

$$\begin{array}{r} ① \quad 11 \\ \times 78 \\ \hline 858 \end{array}$$

$$\begin{array}{r} ② \quad 91 \\ \times 30 \\ \hline 2730 \end{array}$$

$$\begin{array}{r} ③ \quad 70 \\ \times 11 \\ \hline 770 \end{array}$$

$$\begin{array}{r} ④ \quad 17 \\ \times 51 \\ \hline 867 \end{array}$$

$$\begin{array}{r} ⑤ \quad 11 \\ \times 28 \\ \hline 308 \end{array}$$

$$\begin{array}{r} ⑥ \quad 39 \\ \times 21 \\ \hline 819 \end{array}$$

$$\begin{array}{r} ⑦ \quad 10 \\ \times 58 \\ \hline 580 \end{array}$$

$$\begin{array}{r} ⑧ \quad 32 \\ \times 40 \\ \hline 1280 \end{array}$$

$$\begin{array}{r} ⑨ \quad 41 \\ \times 23 \\ \hline 943 \end{array}$$

$$\begin{array}{r} ⑩ \quad 12 \\ \times 41 \\ \hline 492 \end{array}$$

$$\begin{array}{r} ⑪ \quad 30 \\ \times 62 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ⑫ \quad 51 \\ \times 20 \\ \hline 1020 \end{array}$$

$$\begin{array}{r} ⑬ \quad 20 \\ \times 25 \\ \hline 500 \end{array}$$

$$\begin{array}{r} ⑭ \quad 11 \\ \times 48 \\ \hline 528 \end{array}$$

$$\begin{array}{r} ⑮ \quad 60 \\ \times 91 \\ \hline 5460 \end{array}$$

$$\begin{array}{r} ⑯ \quad 70 \\ \times 91 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} ⑰ \quad 46 \\ \times 11 \\ \hline 506 \end{array}$$

$$\begin{array}{r} ⑱ \quad 41 \\ \times 10 \\ \hline 410 \end{array}$$

$$\begin{array}{r} ⑲ \quad 94 \\ \times 20 \\ \hline 1880 \end{array}$$

$$\begin{array}{r} ⑳ \quad 90 \\ \times 20 \\ \hline 1800 \end{array}$$

$$\begin{array}{r} ㉑ \quad 10 \\ \times 48 \\ \hline 480 \end{array}$$

$$\begin{array}{r} ㉒ \quad 10 \\ \times 23 \\ \hline 230 \end{array}$$

$$\begin{array}{r} ㉓ \quad 23 \\ \times 33 \\ \hline 759 \end{array}$$

$$\begin{array}{r} ㉔ \quad 80 \\ \times 81 \\ \hline 6480 \end{array}$$

$$\begin{array}{r} ㉕ \quad 61 \\ \times 40 \\ \hline 2440 \end{array}$$

$$\begin{array}{r} ㉖ \quad 61 \\ \times 14 \\ \hline 854 \end{array}$$

$$\begin{array}{r} ㉗ \quad 11 \\ \times 40 \\ \hline 440 \end{array}$$

$$\begin{array}{r} ㉘ \quad 30 \\ \times 62 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ㉙ \quad 70 \\ \times 90 \\ \hline 6300 \end{array}$$

$$\begin{array}{r} ㉚ \quad 11 \\ \times 36 \\ \hline 396 \end{array}$$

$$\begin{array}{r} ㉛ \quad 11 \\ \times 23 \\ \hline 253 \end{array}$$

$$\begin{array}{r} ㉜ \quad 60 \\ \times 80 \\ \hline 4800 \end{array}$$

$$\begin{array}{r} ㉝ \quad 15 \\ \times 31 \\ \hline 465 \end{array}$$

$$\begin{array}{r} ㉞ \quad 68 \\ \times 11 \\ \hline 748 \end{array}$$

$$\begin{array}{r} ㉟ \quad 10 \\ \times 95 \\ \hline 950 \end{array}$$

$$\begin{array}{r} ㊱ \quad 13 \\ \times 14 \\ \hline 182 \end{array}$$

$$\begin{array}{r} ㊲ \quad 26 \\ \times 31 \\ \hline 806 \end{array}$$

$$\begin{array}{r} ㊳ \quad 90 \\ \times 30 \\ \hline 2700 \end{array}$$

$$\begin{array}{r} ㊴ \quad 90 \\ \times 40 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ㊵ \quad 20 \\ \times 48 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ㊶ \quad 63 \\ \times 12 \\ \hline 756 \end{array}$$

$$\begin{array}{r} ㊷ \quad 51 \\ \times 12 \\ \hline 612 \end{array}$$

$$\begin{array}{r} ㊸ \quad 43 \\ \times 22 \\ \hline 946 \end{array}$$

$$\begin{array}{r} ㊹ \quad 13 \\ \times 51 \\ \hline 663 \end{array}$$

$$\begin{array}{r} ㊺ \quad 51 \\ \times 41 \\ \hline 2091 \end{array}$$

$$\begin{array}{r} ㊻ \quad 23 \\ \times 32 \\ \hline 736 \end{array}$$

$$\begin{array}{r} ㊼ \quad 44 \\ \times 10 \\ \hline 440 \end{array}$$

$$\begin{array}{r} ㊽ \quad 32 \\ \times 24 \\ \hline 768 \end{array}$$

$$\begin{array}{r} ㊾ \quad 11 \\ \times 68 \\ \hline 748 \end{array}$$

$$\begin{array}{r} ㊿ \quad 12 \\ \times 74 \\ \hline 888 \end{array}$$

$$\begin{array}{r} ㉑ \quad 20 \\ \times 23 \\ \hline 460 \end{array}$$

$$\begin{array}{r} ㉒ \quad 15 \\ \times 51 \\ \hline 765 \end{array}$$

$$\begin{array}{r} ㉓ \quad 33 \\ \times 22 \\ \hline 726 \end{array}$$

$$\begin{array}{r} ㉔ \quad 13 \\ \times 72 \\ \hline 936 \end{array}$$

$$\begin{array}{r} ㉕ \quad 39 \\ \times 10 \\ \hline 390 \end{array}$$

$$\begin{array}{r} ㉖ \quad 12 \\ \times 81 \\ \hline 972 \end{array}$$

$$\begin{array}{r} ㉗ \quad 30 \\ \times 41 \\ \hline 1230 \end{array}$$

$$\begin{array}{r} ㉘ \quad 16 \\ \times 21 \\ \hline 336 \end{array}$$

$$\begin{array}{r} ㉙ \quad 61 \\ \times 50 \\ \hline 3050 \end{array}$$

$$\begin{array}{r} ㉚ \quad 14 \\ \times 13 \\ \hline 182 \end{array}$$

$$\begin{array}{r} ㉛ \quad 50 \\ \times 80 \\ \hline 4000 \end{array}$$

$$\begin{array}{r} ㉜ \quad 31 \\ \times 14 \\ \hline 434 \end{array}$$

$$\begin{array}{r} ㉝ \quad 28 \\ \times 30 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㉞ \quad 41 \\ \times 13 \\ \hline 533 \end{array}$$

$$\begin{array}{r} ㉟ \quad 43 \\ \times 23 \\ \hline 989 \end{array}$$

$$\begin{array}{r} ㊱ \quad 20 \\ \times 49 \\ \hline 980 \end{array}$$

$$\begin{array}{r} ㊲ \quad 10 \\ \times 69 \\ \hline 690 \end{array}$$

$$\begin{array}{r} ㊳ \quad 10 \\ \times 96 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ㊴ \quad 30 \\ \times 16 \\ \hline 480 \end{array}$$

$$\begin{array}{r} ㊵ \quad 40 \\ \times 23 \\ \hline 920 \end{array}$$

$$\begin{array}{r} ㊶ \quad 90 \\ \times 20 \\ \hline 1800 \end{array}$$

$$\begin{array}{r} ㊷ \quad 20 \\ \times 44 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ㊸ \quad 15 \\ \times 11 \\ \hline 165 \end{array}$$

$$\begin{array}{r} ㊹ \quad 90 \\ \times 50 \\ \hline 4500 \end{array}$$

$$\begin{array}{r} ㊺ \quad 33 \\ \times 11 \\ \hline 363 \end{array}$$

$$\begin{array}{r} ㊻ \quad 61 \\ \times 20 \\ \hline 1220 \end{array}$$

$$\begin{array}{r} ㊼ \quad 70 \\ \times 51 \\ \hline 3570 \end{array}$$

$$\begin{array}{r} ㊽ \quad 60 \\ \times 30 \\ \hline 1800 \end{array}$$

$$\begin{array}{r} ㊾ \quad 11 \\ \times 32 \\ \hline 352 \end{array}$$

$$\begin{array}{r} ㊿ \quad 31 \\ \times 25 \\ \hline 775 \end{array}$$

$$\begin{array}{r} ㉑ \quad 70 \\ \times 30 \\ \hline 2100 \end{array}$$

$$\begin{array}{r} ㉒ \quad 51 \\ \times 21 \\ \hline 1071 \end{array}$$

$$\begin{array}{r} ㉓ \quad 71 \\ \times 80 \\ \hline 5680 \end{array}$$

$$\begin{array}{r} ㉔ \quad 16 \\ \times 51 \\ \hline 816 \end{array}$$

$$\begin{array}{r} ㉕ \quad 80 \\ \times 51 \\ \hline 4080 \end{array}$$

$$\begin{array}{r} ㉖ \quad 10 \\ \times 57 \\ \hline 570 \end{array}$$

$$\begin{array}{r} ㉗ \quad 20 \\ \times 81 \\ \hline 1620 \end{array}$$

$$\begin{array}{r} ㉘ \quad 13 \\ \times 41 \\ \hline 533 \end{array}$$

$$\begin{array}{r} ㉙ \quad 31 \\ \times 16 \\ \hline 496 \end{array}$$

$$\begin{array}{r} ㉚ \quad 17 \\ \times 40 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ㉛ \quad 51 \\ \times 50 \\ \hline 2550 \end{array}$$

$$\begin{array}{r} ㉜ \quad 10 \\ \times 65 \\ \hline 650 \end{array}$$

$$\begin{array}{r} ㉝ \quad 15 \\ \times 40 \\ \hline 600 \end{array}$$

$$\begin{array}{r} ㉞ \quad 21 \\ \times 10 \\ \hline 210 \end{array}$$

$$\begin{array}{r} ㉟ \quad 41 \\ \times 14 \\ \hline 574 \end{array}$$

$$\begin{array}{r} ㊱ \quad 28 \\ \times 20 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ㊲ \quad 52 \\ \times 21 \\ \hline 1092 \end{array}$$

$$\begin{array}{r} ㊳ \quad 30 \\ \times 63 \\ \hline 1890 \end{array}$$

$$\begin{array}{r} ㊴ \quad 57 \\ \times 10 \\ \hline 570 \end{array}$$

$$\begin{array}{r} ㊵ \quad 60 \\ \times 31 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ① \quad 33 \\ \times 21 \\ \hline 693 \end{array}$$

$$\begin{array}{r} ② \quad 20 \\ \times 71 \\ \hline 1420 \end{array}$$

$$\begin{array}{r} ③ \quad 30 \\ \times 53 \\ \hline 1590 \end{array}$$

$$\begin{array}{r} ④ \quad 30 \\ \times 90 \\ \hline 2700 \end{array}$$

$$\begin{array}{r} ⑤ \quad 32 \\ \times 30 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ⑥ \quad 64 \\ \times 11 \\ \hline 704 \end{array}$$

$$\begin{array}{r} ⑦ \quad 50 \\ \times 17 \\ \hline 850 \end{array}$$

$$\begin{array}{r} ⑧ \quad 17 \\ \times 30 \\ \hline 510 \end{array}$$

$$\begin{array}{r} ⑨ \quad 14 \\ \times 31 \\ \hline 434 \end{array}$$

$$\begin{array}{r} ⑩ \quad 40 \\ \times 20 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ⑪ \quad 13 \\ \times 73 \\ \hline 949 \end{array}$$

$$\begin{array}{r} ⑫ \quad 14 \\ \times 50 \\ \hline 700 \end{array}$$

$$\begin{array}{r} ⑬ \quad 81 \\ \times 60 \\ \hline 4860 \end{array}$$

$$\begin{array}{r} ⑭ \quad 43 \\ \times 23 \\ \hline 989 \end{array}$$

$$\begin{array}{r} ⑮ \quad 20 \\ \times 74 \\ \hline 1480 \end{array}$$

$$\begin{array}{r} ⑯ \quad 21 \\ \times 31 \\ \hline 651 \end{array}$$

$$\begin{array}{r} ⑰ \quad 10 \\ \times 23 \\ \hline 230 \end{array}$$

$$\begin{array}{r} ⑱ \quad 16 \\ \times 31 \\ \hline 496 \end{array}$$

$$\begin{array}{r} ⑲ \quad 12 \\ \times 34 \\ \hline 408 \end{array}$$

$$\begin{array}{r} ⑳ \quad 90 \\ \times 50 \\ \hline 4500 \end{array}$$

$$\begin{array}{r} ㉑ \quad 32 \\ \times 40 \\ \hline 1280 \end{array}$$

$$\begin{array}{r} ㉒ \quad 68 \\ \times 10 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ㉓ \quad 40 \\ \times 31 \\ \hline 1240 \end{array}$$

$$\begin{array}{r} ㉔ \quad 15 \\ \times 20 \\ \hline 300 \end{array}$$

$$\begin{array}{r} ㉕ \quad 44 \\ \times 11 \\ \hline 484 \end{array}$$

$$\begin{array}{r} ㉖ \quad 34 \\ \times 22 \\ \hline 748 \end{array}$$

$$\begin{array}{r} ㉗ \quad 20 \\ \times 40 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ㉘ \quad 25 \\ \times 30 \\ \hline 750 \end{array}$$

$$\begin{array}{r} ㉙ \quad 11 \\ \times 34 \\ \hline 374 \end{array}$$

$$\begin{array}{r} ㉚ \quad 20 \\ \times 11 \\ \hline 220 \end{array}$$

$$\begin{array}{r} ㉛ \quad 28 \\ \times 20 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ㉜ \quad 21 \\ \times 43 \\ \hline 903 \end{array}$$

$$\begin{array}{r} ㉝ \quad 19 \\ \times 51 \\ \hline 969 \end{array}$$

$$\begin{array}{r} ㉞ \quad 80 \\ \times 61 \\ \hline 4880 \end{array}$$

$$\begin{array}{r} ㉟ \quad 20 \\ \times 29 \\ \hline 580 \end{array}$$

$$\begin{array}{r} ㊱ \quad 70 \\ \times 51 \\ \hline 3570 \end{array}$$

$$\begin{array}{r} ㊲ \quad 33 \\ \times 23 \\ \hline 759 \end{array}$$

$$\begin{array}{r} ㊳ \quad 11 \\ \times 79 \\ \hline 869 \end{array}$$

$$\begin{array}{r} ㊴ \quad 61 \\ \times 12 \\ \hline 732 \end{array}$$

$$\begin{array}{r} ㊵ \quad 51 \\ \times 70 \\ \hline 3570 \end{array}$$

$$\begin{array}{r} ㊶ \quad 71 \\ \times 21 \\ \hline 1491 \end{array}$$

$$\begin{array}{r} ㊷ \quad 70 \\ \times 41 \\ \hline 2870 \end{array}$$

$$\begin{array}{r} ㊸ \quad 31 \\ \times 32 \\ \hline 992 \end{array}$$

$$\begin{array}{r} ㊹ \quad 42 \\ \times 20 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㊺ \quad 24 \\ \times 32 \\ \hline 768 \end{array}$$

$$\begin{array}{r} ㊻ \quad 58 \\ \times 10 \\ \hline 580 \end{array}$$

$$\begin{array}{r} ㊼ \quad 11 \\ \times 40 \\ \hline 440 \end{array}$$

$$\begin{array}{r} ㊽ \quad 31 \\ \times 14 \\ \hline 434 \end{array}$$

$$\begin{array}{r} ㊾ \quad 19 \\ \times 41 \\ \hline 779 \end{array}$$

$$\begin{array}{r} ㊿ \quad 61 \\ \times 21 \\ \hline 1281 \end{array}$$

$$\begin{array}{r} ① \quad 20 \\ \times 82 \\ \hline 1640 \end{array}$$

$$\begin{array}{r} ② \quad 60 \\ \times 70 \\ \hline 4200 \end{array}$$

$$\begin{array}{r} ③ \quad 17 \\ \times 40 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ④ \quad 47 \\ \times 10 \\ \hline 470 \end{array}$$

$$\begin{array}{r} ⑤ \quad 62 \\ \times 40 \\ \hline 2480 \end{array}$$

$$\begin{array}{r} ⑥ \quad 20 \\ \times 18 \\ \hline 360 \end{array}$$

$$\begin{array}{r} ⑦ \quad 39 \\ \times 11 \\ \hline 429 \end{array}$$

$$\begin{array}{r} ⑧ \quad 91 \\ \times 90 \\ \hline 8190 \end{array}$$

$$\begin{array}{r} ⑨ \quad 52 \\ \times 12 \\ \hline 624 \end{array}$$

$$\begin{array}{r} ⑩ \quad 12 \\ \times 32 \\ \hline 384 \end{array}$$

$$\begin{array}{r} ⑪ \quad 30 \\ \times 42 \\ \hline 1260 \end{array}$$

$$\begin{array}{r} ⑫ \quad 12 \\ \times 40 \\ \hline 480 \end{array}$$

$$\begin{array}{r} ⑬ \quad 10 \\ \times 67 \\ \hline 670 \end{array}$$

$$\begin{array}{r} ⑭ \quad 13 \\ \times 73 \\ \hline 949 \end{array}$$

$$\begin{array}{r} ⑮ \quad 40 \\ \times 42 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ⑯ \quad 10 \\ \times 26 \\ \hline 260 \end{array}$$

$$\begin{array}{r} ⑰ \quad 10 \\ \times 48 \\ \hline 480 \end{array}$$

$$\begin{array}{r} ⑱ \quad 30 \\ \times 12 \\ \hline 360 \end{array}$$

$$\begin{array}{r} ⑲ \quad 11 \\ \times 85 \\ \hline 935 \end{array}$$

$$\begin{array}{r} ㉑ \quad 21 \\ \times 28 \\ \hline 588 \end{array}$$

$$\begin{array}{r} ㉒ \quad 53 \\ \times 11 \\ \hline 583 \end{array}$$

$$\begin{array}{r} ㉓ \quad 40 \\ \times 92 \\ \hline 3680 \end{array}$$

$$\begin{array}{r} ㉔ \quad 10 \\ \times 66 \\ \hline 660 \end{array}$$

$$\begin{array}{r} ㉕ \quad 16 \\ \times 50 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ㉖ \quad 26 \\ \times 10 \\ \hline 260 \end{array}$$

$$\begin{array}{r} ㉗ \quad 50 \\ \times 70 \\ \hline 3500 \end{array}$$

$$\begin{array}{r} ㉘ \quad 19 \\ \times 10 \\ \hline 190 \end{array}$$

$$\begin{array}{r} ㉙ \quad 21 \\ \times 25 \\ \hline 525 \end{array}$$

$$\begin{array}{r} ㉚ \quad 30 \\ \times 61 \\ \hline 1830 \end{array}$$

$$\begin{array}{r} ㉛ \quad 71 \\ \times 60 \\ \hline 4260 \end{array}$$

$$\begin{array}{r} ㉜ \quad 21 \\ \times 31 \\ \hline 651 \end{array}$$

$$\begin{array}{r} ㉝ \quad 50 \\ \times 40 \\ \hline 2000 \end{array}$$

$$\begin{array}{r} ㉞ \quad 31 \\ \times 20 \\ \hline 620 \end{array}$$

$$\begin{array}{r} ㉟ \quad 70 \\ \times 61 \\ \hline 4270 \end{array}$$

$$\begin{array}{r} ㊱ \quad 30 \\ \times 60 \\ \hline 1800 \end{array}$$

$$\begin{array}{r} ㊲ \quad 60 \\ \times 20 \\ \hline 1200 \end{array}$$

$$\begin{array}{r} ㊳ \quad 50 \\ \times 20 \\ \hline 1000 \end{array}$$

$$\begin{array}{r} ㊴ \quad 90 \\ \times 11 \\ \hline 990 \end{array}$$

$$\begin{array}{r} ㊵ \quad 58 \\ \times 11 \\ \hline 638 \end{array}$$

$$\begin{array}{r} ㊶ \quad 27 \\ \times 11 \\ \hline 297 \end{array}$$

$$\begin{array}{r} ㊷ \quad 20 \\ \times 46 \\ \hline 920 \end{array}$$

$$\begin{array}{r} ㊸ \quad 10 \\ \times 82 \\ \hline 820 \end{array}$$

$$\begin{array}{r} ㊹ \quad 11 \\ \times 76 \\ \hline 836 \end{array}$$

$$\begin{array}{r} ㊺ \quad 60 \\ \times 90 \\ \hline 5400 \end{array}$$

$$\begin{array}{r} ㊻ \quad 40 \\ \times 60 \\ \hline 2400 \end{array}$$

$$\begin{array}{r} ㊼ \quad 10 \\ \times 59 \\ \hline 590 \end{array}$$

$$\begin{array}{r} ㊽ \quad 79 \\ \times 11 \\ \hline 869 \end{array}$$

$$\begin{array}{r} ㊾ \quad 13 \\ \times 23 \\ \hline 299 \end{array}$$

$$\begin{array}{r} ㊿ \quad 26 \\ \times 21 \\ \hline 546 \end{array}$$

$$\begin{array}{r} ㉑ \quad 33 \\ \times 11 \\ \hline 363 \end{array}$$

$$\begin{array}{r} ① \quad 70 \\ \times 91 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} ② \quad 33 \\ \times 12 \\ \hline 396 \end{array}$$

$$\begin{array}{r} ③ \quad 11 \\ \times 42 \\ \hline 462 \end{array}$$

$$\begin{array}{r} ④ \quad 11 \\ \times 78 \\ \hline 858 \end{array}$$

$$\begin{array}{r} ⑤ \quad 30 \\ \times 17 \\ \hline 510 \end{array}$$

$$\begin{array}{r} ⑥ \quad 30 \\ \times 11 \\ \hline 330 \end{array}$$

$$\begin{array}{r} ⑦ \quad 62 \\ \times 10 \\ \hline 620 \end{array}$$

$$\begin{array}{r} ⑧ \quad 30 \\ \times 81 \\ \hline 2430 \end{array}$$

$$\begin{array}{r} ⑨ \quad 11 \\ \times 55 \\ \hline 605 \end{array}$$

$$\begin{array}{r} ⑩ \quad 41 \\ \times 70 \\ \hline 2870 \end{array}$$

$$\begin{array}{r} ⑪ \quad 72 \\ \times 12 \\ \hline 864 \end{array}$$

$$\begin{array}{r} ⑫ \quad 11 \\ \times 55 \\ \hline 605 \end{array}$$

$$\begin{array}{r} ⑬ \quad 37 \\ \times 11 \\ \hline 407 \end{array}$$

$$\begin{array}{r} ⑭ \quad 51 \\ \times 14 \\ \hline 714 \end{array}$$

$$\begin{array}{r} ⑮ \quad 60 \\ \times 51 \\ \hline 3060 \end{array}$$

$$\begin{array}{r} ⑯ \quad 90 \\ \times 40 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ⑰ \quad 72 \\ \times 30 \\ \hline 2160 \end{array}$$

$$\begin{array}{r} ⑱ \quad 10 \\ \times 51 \\ \hline 510 \end{array}$$

$$\begin{array}{r} ⑲ \quad 11 \\ \times 59 \\ \hline 649 \end{array}$$

$$\begin{array}{r} ⑳ \quad 41 \\ \times 10 \\ \hline 410 \end{array}$$

$$\begin{array}{r} ㉑ \quad 41 \\ \times 41 \\ \hline 1681 \end{array}$$

$$\begin{array}{r} ㉒ \quad 11 \\ \times 56 \\ \hline 616 \end{array}$$

$$\begin{array}{r} ㉓ \quad 44 \\ \times 11 \\ \hline 484 \end{array}$$

$$\begin{array}{r} ㉔ \quad 13 \\ \times 14 \\ \hline 182 \end{array}$$

$$\begin{array}{r} ㉕ \quad 11 \\ \times 35 \\ \hline 385 \end{array}$$

$$\begin{array}{r} ㉖ \quad 11 \\ \times 17 \\ \hline 187 \end{array}$$

$$\begin{array}{r} ㉗ \quad 10 \\ \times 40 \\ \hline 400 \end{array}$$

$$\begin{array}{r} ㉘ \quad 43 \\ \times 10 \\ \hline 430 \end{array}$$

$$\begin{array}{r} ㉙ \quad 60 \\ \times 14 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㉚ \quad 44 \\ \times 21 \\ \hline 924 \end{array}$$

$$\begin{array}{r} ㉛ \quad 22 \\ \times 23 \\ \hline 506 \end{array}$$

$$\begin{array}{r} ㉜ \quad 90 \\ \times 30 \\ \hline 2700 \end{array}$$

$$\begin{array}{r} ㉝ \quad 70 \\ \times 11 \\ \hline 770 \end{array}$$

$$\begin{array}{r} ㉞ \quad 40 \\ \times 31 \\ \hline 1240 \end{array}$$

$$\begin{array}{r} ㉟ \quad 10 \\ \times 71 \\ \hline 710 \end{array}$$

$$\begin{array}{r} ㊱ \quad 17 \\ \times 31 \\ \hline 527 \end{array}$$

$$\begin{array}{r} ㊲ \quad 10 \\ \times 81 \\ \hline 810 \end{array}$$

$$\begin{array}{r} ㊳ \quad 44 \\ \times 10 \\ \hline 440 \end{array}$$

$$\begin{array}{r} ㊴ \quad 21 \\ \times 29 \\ \hline 609 \end{array}$$

$$\begin{array}{r} ㊵ \quad 80 \\ \times 30 \\ \hline 2400 \end{array}$$

$$\begin{array}{r} ㊶ \quad 80 \\ \times 21 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ㊷ \quad 10 \\ \times 15 \\ \hline 150 \end{array}$$

$$\begin{array}{r} ㊸ \quad 30 \\ \times 24 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㊹ \quad 30 \\ \times 50 \\ \hline 1500 \end{array}$$

$$\begin{array}{r} ㊺ \quad 18 \\ \times 40 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㊻ \quad 10 \\ \times 24 \\ \hline 240 \end{array}$$

$$\begin{array}{r} ㊼ \quad 20 \\ \times 45 \\ \hline 900 \end{array}$$

$$\begin{array}{r} ㊽ \quad 27 \\ \times 31 \\ \hline 837 \end{array}$$

$$\begin{array}{r} ㊾ \quad 46 \\ \times 21 \\ \hline 966 \end{array}$$

$$\begin{array}{r} ㊿ \quad 51 \\ \times 70 \\ \hline 3570 \end{array}$$

$$\begin{array}{r} ① \quad 40 \\ \times 90 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ② \quad 10 \\ \times 93 \\ \hline 930 \end{array}$$

$$\begin{array}{r} ③ \quad 14 \\ \times 42 \\ \hline 588 \end{array}$$

$$\begin{array}{r} ④ \quad 90 \\ \times 50 \\ \hline 4500 \end{array}$$

$$\begin{array}{r} ⑤ \quad 41 \\ \times 90 \\ \hline 3690 \end{array}$$

$$\begin{array}{r} ⑥ \quad 80 \\ \times 51 \\ \hline 4080 \end{array}$$

$$\begin{array}{r} ⑦ \quad 50 \\ \times 15 \\ \hline 750 \end{array}$$

$$\begin{array}{r} ⑧ \quad 60 \\ \times 20 \\ \hline 1200 \end{array}$$

$$\begin{array}{r} ⑨ \quad 80 \\ \times 30 \\ \hline 2400 \end{array}$$

$$\begin{array}{r} ⑩ \quad 80 \\ \times 30 \\ \hline 2400 \end{array}$$

$$\begin{array}{r} ⑪ \quad 61 \\ \times 80 \\ \hline 4880 \end{array}$$

$$\begin{array}{r} ⑫ \quad 83 \\ \times 20 \\ \hline 1660 \end{array}$$

$$\begin{array}{r} ⑬ \quad 13 \\ \times 50 \\ \hline 650 \end{array}$$

$$\begin{array}{r} ⑭ \quad 20 \\ \times 63 \\ \hline 1260 \end{array}$$

$$\begin{array}{r} ⑮ \quad 14 \\ \times 51 \\ \hline 714 \end{array}$$

$$\begin{array}{r} ⑯ \quad 10 \\ \times 56 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ⑰ \quad 27 \\ \times 11 \\ \hline 297 \end{array}$$

$$\begin{array}{r} ⑱ \quad 70 \\ \times 31 \\ \hline 2170 \end{array}$$

$$\begin{array}{r} ⑲ \quad 21 \\ \times 40 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ⑳ \quad 34 \\ \times 12 \\ \hline 408 \end{array}$$

$$\begin{array}{r} ㉑ \quad 30 \\ \times 14 \\ \hline 420 \end{array}$$

$$\begin{array}{r} ㉒ \quad 81 \\ \times 50 \\ \hline 4050 \end{array}$$

$$\begin{array}{r} ㉓ \quad 41 \\ \times 50 \\ \hline 2050 \end{array}$$

$$\begin{array}{r} ㉔ \quad 12 \\ \times 61 \\ \hline 732 \end{array}$$

$$\begin{array}{r} ㉕ \quad 31 \\ \times 23 \\ \hline 713 \end{array}$$

$$\begin{array}{r} ㉖ \quad 90 \\ \times 10 \\ \hline 900 \end{array}$$

$$\begin{array}{r} ㉗ \quad 20 \\ \times 23 \\ \hline 460 \end{array}$$

$$\begin{array}{r} ㉘ \quad 20 \\ \times 12 \\ \hline 240 \end{array}$$

$$\begin{array}{r} ㉙ \quad 20 \\ \times 10 \\ \hline 200 \end{array}$$

$$\begin{array}{r} ㉚ \quad 70 \\ \times 60 \\ \hline 4200 \end{array}$$

$$\begin{array}{r} ㉛ \quad 71 \\ \times 70 \\ \hline 4970 \end{array}$$

$$\begin{array}{r} ㉜ \quad 21 \\ \times 23 \\ \hline 483 \end{array}$$

$$\begin{array}{r} ㉝ \quad 32 \\ \times 24 \\ \hline 768 \end{array}$$

$$\begin{array}{r} ㉞ \quad 13 \\ \times 60 \\ \hline 780 \end{array}$$

$$\begin{array}{r} ㉟ \quad 70 \\ \times 71 \\ \hline 4970 \end{array}$$

$$\begin{array}{r} ㊱ \quad 16 \\ \times 20 \\ \hline 320 \end{array}$$

$$\begin{array}{r} ㊲ \quad 21 \\ \times 90 \\ \hline 1890 \end{array}$$

$$\begin{array}{r} ㊳ \quad 90 \\ \times 30 \\ \hline 2700 \end{array}$$

$$\begin{array}{r} ㊴ \quad 44 \\ \times 12 \\ \hline 528 \end{array}$$

$$\begin{array}{r} ㊵ \quad 16 \\ \times 10 \\ \hline 160 \end{array}$$

$$\begin{array}{r} ㊶ \quad 31 \\ \times 41 \\ \hline 1271 \end{array}$$

$$\begin{array}{r} ㊷ \quad 11 \\ \times 46 \\ \hline 506 \end{array}$$

$$\begin{array}{r} ㊸ \quad 50 \\ \times 41 \\ \hline 2050 \end{array}$$

$$\begin{array}{r} ㊹ \quad 30 \\ \times 50 \\ \hline 1500 \end{array}$$

$$\begin{array}{r} ㊺ \quad 70 \\ \times 60 \\ \hline 4200 \end{array}$$

$$\begin{array}{r} ㊻ \quad 23 \\ \times 22 \\ \hline 506 \end{array}$$

$$\begin{array}{r} ㊼ \quad 17 \\ \times 30 \\ \hline 510 \end{array}$$

$$\begin{array}{r} ㊽ \quad 31 \\ \times 41 \\ \hline 1271 \end{array}$$

$$\begin{array}{r} ㊾ \quad 70 \\ \times 21 \\ \hline 1470 \end{array}$$

$$\begin{array}{r} ㊿ \quad 11 \\ \times 37 \\ \hline 407 \end{array}$$

$$\begin{array}{r} ① \quad 31 \\ \times 13 \\ \hline 403 \end{array}$$

$$\begin{array}{r} ② \quad 10 \\ \times 45 \\ \hline 450 \end{array}$$

$$\begin{array}{r} ③ \quad 18 \\ \times 11 \\ \hline 198 \end{array}$$

$$\begin{array}{r} ④ \quad 31 \\ \times 10 \\ \hline 310 \end{array}$$

$$\begin{array}{r} ⑤ \quad 11 \\ \times 70 \\ \hline 770 \end{array}$$

$$\begin{array}{r} ⑥ \quad 21 \\ \times 27 \\ \hline 567 \end{array}$$

$$\begin{array}{r} ⑦ \quad 42 \\ \times 22 \\ \hline 924 \end{array}$$

$$\begin{array}{r} ⑧ \quad 44 \\ \times 20 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ⑨ \quad 14 \\ \times 22 \\ \hline 308 \end{array}$$

$$\begin{array}{r} ⑩ \quad 21 \\ \times 32 \\ \hline 672 \end{array}$$

$$\begin{array}{r} ⑪ \quad 16 \\ \times 31 \\ \hline 496 \end{array}$$

$$\begin{array}{r} ⑫ \quad 53 \\ \times 30 \\ \hline 1590 \end{array}$$

$$\begin{array}{r} ⑬ \quad 22 \\ \times 21 \\ \hline 462 \end{array}$$

$$\begin{array}{r} ⑭ \quad 41 \\ \times 21 \\ \hline 861 \end{array}$$

$$\begin{array}{r} ⑮ \quad 22 \\ \times 12 \\ \hline 264 \end{array}$$

$$\begin{array}{r} ⑯ \quad 20 \\ \times 30 \\ \hline 600 \end{array}$$

$$\begin{array}{r} ⑰ \quad 10 \\ \times 77 \\ \hline 770 \end{array}$$

$$\begin{array}{r} ⑱ \quad 11 \\ \times 39 \\ \hline 429 \end{array}$$

$$\begin{array}{r} ⑲ \quad 10 \\ \times 66 \\ \hline 660 \end{array}$$

$$\begin{array}{r} ⑳ \quad 51 \\ \times 80 \\ \hline 4080 \end{array}$$

$$\begin{array}{r} ㉑ \quad 43 \\ \times 12 \\ \hline 516 \end{array}$$

$$\begin{array}{r} ㉒ \quad 30 \\ \times 22 \\ \hline 660 \end{array}$$

$$\begin{array}{r} ㉓ \quad 51 \\ \times 41 \\ \hline 2091 \end{array}$$

$$\begin{array}{r} ㉔ \quad 73 \\ \times 30 \\ \hline 2190 \end{array}$$

$$\begin{array}{r} ㉕ \quad 30 \\ \times 28 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㉖ \quad 29 \\ \times 20 \\ \hline 580 \end{array}$$

$$\begin{array}{r} ㉗ \quad 45 \\ \times 10 \\ \hline 450 \end{array}$$

$$\begin{array}{r} ㉘ \quad 19 \\ \times 50 \\ \hline 950 \end{array}$$

$$\begin{array}{r} ㉙ \quad 30 \\ \times 16 \\ \hline 480 \end{array}$$

$$\begin{array}{r} ㉚ \quad 21 \\ \times 30 \\ \hline 630 \end{array}$$

$$\begin{array}{r} ㉛ \quad 10 \\ \times 25 \\ \hline 250 \end{array}$$

$$\begin{array}{r} ㉜ \quad 31 \\ \times 80 \\ \hline 2480 \end{array}$$

$$\begin{array}{r} ㉝ \quad 12 \\ \times 50 \\ \hline 600 \end{array}$$

$$\begin{array}{r} ㉞ \quad 21 \\ \times 51 \\ \hline 1071 \end{array}$$

$$\begin{array}{r} ㉟ \quad 22 \\ \times 10 \\ \hline 220 \end{array}$$

$$\begin{array}{r} ㊱ \quad 80 \\ \times 31 \\ \hline 2480 \end{array}$$

$$\begin{array}{r} ㊲ \quad 84 \\ \times 20 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ㊳ \quad 10 \\ \times 58 \\ \hline 580 \end{array}$$

$$\begin{array}{r} ㊴ \quad 30 \\ \times 29 \\ \hline 870 \end{array}$$

$$\begin{array}{r} ㊵ \quad 22 \\ \times 40 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ㊶ \quad 30 \\ \times 23 \\ \hline 690 \end{array}$$

$$\begin{array}{r} ㊷ \quad 40 \\ \times 17 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ㊸ \quad 44 \\ \times 20 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ㊹ \quad 12 \\ \times 60 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㊺ \quad 20 \\ \times 82 \\ \hline 1640 \end{array}$$

$$\begin{array}{r} ㊻ \quad 16 \\ \times 30 \\ \hline 480 \end{array}$$

$$\begin{array}{r} ㊼ \quad 11 \\ \times 89 \\ \hline 979 \end{array}$$

$$\begin{array}{r} ㊽ \quad 24 \\ \times 41 \\ \hline 984 \end{array}$$

$$\begin{array}{r} ㊾ \quad 78 \\ \times 11 \\ \hline 858 \end{array}$$

$$\begin{array}{r} ㊿ \quad 20 \\ \times 37 \\ \hline 740 \end{array}$$

$$\begin{array}{r} ㊽ \quad 27 \\ \times 10 \\ \hline 270 \end{array}$$

$$\begin{array}{r} ㊿ \quad 31 \\ \times 14 \\ \hline 434 \end{array}$$

$$\begin{array}{r} ㊿ \quad 73 \\ \times 12 \\ \hline 876 \end{array}$$

$$\begin{array}{r} ㊿ \quad 39 \\ \times 21 \\ \hline 819 \end{array}$$

$$\begin{array}{r} ㊿ \quad 83 \\ \times 12 \\ \hline 996 \end{array}$$

$$\begin{array}{r} ㊿ \quad 12 \\ \times 73 \\ \hline 876 \end{array}$$

$$\begin{array}{r} ㊿ \quad 51 \\ \times 14 \\ \hline 714 \end{array}$$

$$\begin{array}{r} ㊿ \quad 54 \\ \times 20 \\ \hline 1080 \end{array}$$

$$\begin{array}{r} ㊿ \quad 78 \\ \times 10 \\ \hline 780 \end{array}$$

$$\begin{array}{r} ㊿ \quad 30 \\ \times 41 \\ \hline 1230 \end{array}$$

$$\begin{array}{r} ㊿ \quad 42 \\ \times 20 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㊿ \quad 91 \\ \times 30 \\ \hline 2730 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 42 \\ \hline 420 \end{array}$$

$$\begin{array}{r} ㊿ \quad 30 \\ \times 30 \\ \hline 900 \end{array}$$

$$\begin{array}{r} ㊿ \quad 16 \\ \times 10 \\ \hline 160 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 11 \\ \hline 110 \end{array}$$

$$\begin{array}{r} ㊿ \quad 13 \\ \times 62 \\ \hline 806 \end{array}$$

$$\begin{array}{r} ㊿ \quad 30 \\ \times 71 \\ \hline 2130 \end{array}$$

$$\begin{array}{r} ㊿ \quad 52 \\ \times 21 \\ \hline 1092 \end{array}$$

$$\begin{array}{r} ㊿ \quad 70 \\ \times 41 \\ \hline 2870 \end{array}$$

$$\begin{array}{r} ㊿ \quad 80 \\ \times 91 \\ \hline 7280 \end{array}$$

$$\begin{array}{r} ㊿ \quad 11 \\ \times 77 \\ \hline 847 \end{array}$$

$$\begin{array}{r} ㊿ \quad 80 \\ \times 71 \\ \hline 5680 \end{array}$$

$$\begin{array}{r} ㊿ \quad 93 \\ \times 10 \\ \hline 930 \end{array}$$

$$\begin{array}{r} ㊿ \quad 70 \\ \times 90 \\ \hline 6300 \end{array}$$

$$\begin{array}{r} ㊿ \quad 50 \\ \times 15 \\ \hline 750 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 33 \\ \hline 330 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 25 \\ \hline 250 \end{array}$$

$$\begin{array}{r} ㊿ \quad 76 \\ \times 10 \\ \hline 760 \end{array}$$

$$\begin{array}{r} ㊿ \quad 22 \\ \times 42 \\ \hline 924 \end{array}$$

$$\begin{array}{r} ㊿ \quad 60 \\ \times 31 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 20 \\ \hline 200 \end{array}$$

$$\begin{array}{r} ㊿ \quad 70 \\ \times 80 \\ \hline 5600 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 61 \\ \hline 610 \end{array}$$

$$\begin{array}{r} ㊿ \quad 21 \\ \times 35 \\ \hline 735 \end{array}$$

$$\begin{array}{r} ㊿ \quad 69 \\ \times 10 \\ \hline 690 \end{array}$$

$$\begin{array}{r} ㊿ \quad 78 \\ \times 11 \\ \hline 858 \end{array}$$

$$\begin{array}{r} ㊿ \quad 48 \\ \times 20 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ㊿ \quad 31 \\ \times 12 \\ \hline 372 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 30 \\ \hline 300 \end{array}$$

$$\begin{array}{r} ㊿ \quad 83 \\ \times 11 \\ \hline 913 \end{array}$$

$$\begin{array}{r} ㊿ \quad 40 \\ \times 14 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ㊿ \quad 17 \\ \times 50 \\ \hline 850 \end{array}$$

$$\begin{array}{r} ㊿ \quad 19 \\ \times 30 \\ \hline 570 \end{array}$$

$$\begin{array}{r} ㊿ \quad 30 \\ \times 63 \\ \hline 1890 \end{array}$$

$$\begin{array}{r} ㊿ \quad 20 \\ \times 51 \\ \hline 1020 \end{array}$$

$$\begin{array}{r} ㊿ \quad 13 \\ \times 61 \\ \hline 793 \end{array}$$

$$\begin{array}{r} ㊿ \quad 91 \\ \times 70 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} ㊿ \quad 19 \\ \times 21 \\ \hline 399 \end{array}$$

$$\begin{array}{r} ㊿ \quad 40 \\ \times 18 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ① \quad 30 \\ \times 19 \\ \hline 570 \end{array}$$

$$\begin{array}{r} ② \quad 14 \\ \times 21 \\ \hline 294 \end{array}$$

$$\begin{array}{r} ③ \quad 48 \\ \times 20 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ④ \quad 32 \\ \times 11 \\ \hline 352 \end{array}$$

$$\begin{array}{r} ⑤ \quad 20 \\ \times 17 \\ \hline 340 \end{array}$$

$$\begin{array}{r} ⑥ \quad 21 \\ \times 70 \\ \hline 1470 \end{array}$$

$$\begin{array}{r} ⑦ \quad 63 \\ \times 13 \\ \hline 819 \end{array}$$

$$\begin{array}{r} ⑧ \quad 15 \\ \times 41 \\ \hline 615 \end{array}$$

$$\begin{array}{r} ⑨ \quad 50 \\ \times 81 \\ \hline 4050 \end{array}$$

$$\begin{array}{r} ⑩ \quad 12 \\ \times 71 \\ \hline 852 \end{array}$$

$$\begin{array}{r} ⑪ \quad 21 \\ \times 13 \\ \hline 273 \end{array}$$

$$\begin{array}{r} ⑫ \quad 73 \\ \times 20 \\ \hline 1460 \end{array}$$

$$\begin{array}{r} ⑬ \quad 14 \\ \times 14 \\ \hline 196 \end{array}$$

$$\begin{array}{r} ⑭ \quad 41 \\ \times 21 \\ \hline 861 \end{array}$$

$$\begin{array}{r} ⑮ \quad 11 \\ \times 23 \\ \hline 253 \end{array}$$

$$\begin{array}{r} ⑯ \quad 12 \\ \times 54 \\ \hline 648 \end{array}$$

$$\begin{array}{r} ⑰ \quad 41 \\ \times 30 \\ \hline 1230 \end{array}$$

$$\begin{array}{r} ⑱ \quad 11 \\ \times 55 \\ \hline 605 \end{array}$$

$$\begin{array}{r} ⑲ \quad 41 \\ \times 18 \\ \hline 738 \end{array}$$

$$\begin{array}{r} ⑳ \quad 41 \\ \times 17 \\ \hline 697 \end{array}$$

$$\begin{array}{r} ㉑ \quad 50 \\ \times 10 \\ \hline 500 \end{array}$$

$$\begin{array}{r} ㉒ \quad 90 \\ \times 91 \\ \hline 8190 \end{array}$$

$$\begin{array}{r} ㉓ \quad 11 \\ \times 41 \\ \hline 451 \end{array}$$

$$\begin{array}{r} ㉔ \quad 23 \\ \times 11 \\ \hline 253 \end{array}$$

$$\begin{array}{r} ㉕ \quad 30 \\ \times 28 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㉖ \quad 21 \\ \times 15 \\ \hline 315 \end{array}$$

$$\begin{array}{r} ㉗ \quad 20 \\ \times 47 \\ \hline 940 \end{array}$$

$$\begin{array}{r} ㉘ \quad 30 \\ \times 73 \\ \hline 2190 \end{array}$$

$$\begin{array}{r} ㉙ \quad 10 \\ \times 61 \\ \hline 610 \end{array}$$

$$\begin{array}{r} ㉚ \quad 41 \\ \times 11 \\ \hline 451 \end{array}$$

$$\begin{array}{r} ㉛ \quad 10 \\ \times 20 \\ \hline 200 \end{array}$$

$$\begin{array}{r} ㉜ \quad 20 \\ \times 39 \\ \hline 780 \end{array}$$

$$\begin{array}{r} ㉝ \quad 28 \\ \times 30 \\ \hline 840 \end{array}$$

$$\begin{array}{r} ㉞ \quad 24 \\ \times 12 \\ \hline 288 \end{array}$$

$$\begin{array}{r} ㉟ \quad 90 \\ \times 81 \\ \hline 7290 \end{array}$$

$$\begin{array}{r} ㊱ \quad 11 \\ \times 40 \\ \hline 440 \end{array}$$

$$\begin{array}{r} ㊲ \quad 64 \\ \times 10 \\ \hline 640 \end{array}$$

$$\begin{array}{r} ㊳ \quad 53 \\ \times 10 \\ \hline 530 \end{array}$$

$$\begin{array}{r} ㊴ \quad 78 \\ \times 11 \\ \hline 858 \end{array}$$

$$\begin{array}{r} ㊵ \quad 31 \\ \times 22 \\ \hline 682 \end{array}$$

$$\begin{array}{r} ㊶ \quad 40 \\ \times 82 \\ \hline 3280 \end{array}$$

$$\begin{array}{r} ㊷ \quad 31 \\ \times 19 \\ \hline 589 \end{array}$$

$$\begin{array}{r} ㊸ \quad 21 \\ \times 43 \\ \hline 903 \end{array}$$

$$\begin{array}{r} ㊹ \quad 21 \\ \times 41 \\ \hline 861 \end{array}$$

$$\begin{array}{r} ㊺ \quad 34 \\ \times 21 \\ \hline 714 \end{array}$$

$$\begin{array}{r} ㊻ \quad 81 \\ \times 11 \\ \hline 891 \end{array}$$

$$\begin{array}{r} ㊼ \quad 52 \\ \times 20 \\ \hline 1040 \end{array}$$

$$\begin{array}{r} ㊽ \quad 84 \\ \times 20 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ㊾ \quad 40 \\ \times 18 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㊿ \quad 32 \\ \times 11 \\ \hline 352 \end{array}$$

$$\begin{array}{r} ① \quad 10 \\ \times 41 \\ \hline 410 \end{array}$$

$$\begin{array}{r} ② \quad 51 \\ \times 41 \\ \hline 2091 \end{array}$$

$$\begin{array}{r} ③ \quad 41 \\ \times 16 \\ \hline 656 \end{array}$$

$$\begin{array}{r} ④ \quad 10 \\ \times 27 \\ \hline 270 \end{array}$$

$$\begin{array}{r} ⑤ \quad 90 \\ \times 31 \\ \hline 2790 \end{array}$$

$$\begin{array}{r} ⑥ \quad 18 \\ \times 10 \\ \hline 180 \end{array}$$

$$\begin{array}{r} ⑦ \quad 20 \\ \times 62 \\ \hline 1240 \end{array}$$

$$\begin{array}{r} ⑧ \quad 32 \\ \times 10 \\ \hline 320 \end{array}$$

$$\begin{array}{r} ⑨ \quad 21 \\ \times 35 \\ \hline 735 \end{array}$$

$$\begin{array}{r} ⑩ \quad 11 \\ \times 55 \\ \hline 605 \end{array}$$

$$\begin{array}{r} ⑪ \quad 91 \\ \times 20 \\ \hline 1820 \end{array}$$

$$\begin{array}{r} ⑫ \quad 19 \\ \times 30 \\ \hline 570 \end{array}$$

$$\begin{array}{r} ⑬ \quad 61 \\ \times 14 \\ \hline 854 \end{array}$$

$$\begin{array}{r} ⑭ \quad 95 \\ \times 10 \\ \hline 950 \end{array}$$

$$\begin{array}{r} ⑮ \quad 40 \\ \times 31 \\ \hline 1240 \end{array}$$

$$\begin{array}{r} ⑯ \quad 61 \\ \times 14 \\ \hline 854 \end{array}$$

$$\begin{array}{r} ⑰ \quad 21 \\ \times 70 \\ \hline 1470 \end{array}$$

$$\begin{array}{r} ⑱ \quad 29 \\ \times 31 \\ \hline 899 \end{array}$$

$$\begin{array}{r} ⑲ \quad 46 \\ \times 21 \\ \hline 966 \end{array}$$

$$\begin{array}{r} ⑳ \quad 90 \\ \times 61 \\ \hline 5490 \end{array}$$

$$\begin{array}{r} ㉑ \quad 45 \\ \times 10 \\ \hline 450 \end{array}$$

$$\begin{array}{r} ㉒ \quad 16 \\ \times 61 \\ \hline 976 \end{array}$$

$$\begin{array}{r} ㉓ \quad 51 \\ \times 90 \\ \hline 4590 \end{array}$$

$$\begin{array}{r} ㉔ \quad 71 \\ \times 50 \\ \hline 3550 \end{array}$$

$$\begin{array}{r} ㉕ \quad 12 \\ \times 31 \\ \hline 372 \end{array}$$

$$\begin{array}{r} ㉖ \quad 57 \\ \times 11 \\ \hline 627 \end{array}$$

$$\begin{array}{r} ㉗ \quad 21 \\ \times 41 \\ \hline 861 \end{array}$$

$$\begin{array}{r} ㉘ \quad 10 \\ \times 23 \\ \hline 230 \end{array}$$

$$\begin{array}{r} ㉙ \quad 11 \\ \times 40 \\ \hline 440 \end{array}$$

$$\begin{array}{r} ㉚ \quad 90 \\ \times 61 \\ \hline 5490 \end{array}$$

$$\begin{array}{r} ㉛ \quad 20 \\ \times 83 \\ \hline 1660 \end{array}$$

$$\begin{array}{r} ㉜ \quad 10 \\ \times 99 \\ \hline 990 \end{array}$$

$$\begin{array}{r} ㉝ \quad 11 \\ \times 87 \\ \hline 957 \end{array}$$

$$\begin{array}{r} ㉞ \quad 21 \\ \times 44 \\ \hline 924 \end{array}$$

$$\begin{array}{r} ㉟ \quad 10 \\ \times 31 \\ \hline 310 \end{array}$$

$$\begin{array}{r} ㊱ \quad 10 \\ \times 25 \\ \hline 250 \end{array}$$

$$\begin{array}{r} ㊲ \quad 14 \\ \times 13 \\ \hline 182 \end{array}$$

$$\begin{array}{r} ㊳ \quad 61 \\ \times 13 \\ \hline 793 \end{array}$$

$$\begin{array}{r} ㊴ \quad 11 \\ \times 10 \\ \hline 110 \end{array}$$

$$\begin{array}{r} ㊵ \quad 31 \\ \times 22 \\ \hline 682 \end{array}$$

$$\begin{array}{r} ㊶ \quad 30 \\ \times 13 \\ \hline 390 \end{array}$$

$$\begin{array}{r} ㊷ \quad 61 \\ \times 30 \\ \hline 1830 \end{array}$$

$$\begin{array}{r} ㊸ \quad 81 \\ \times 50 \\ \hline 4050 \end{array}$$

$$\begin{array}{r} ㊹ \quad 16 \\ \times 40 \\ \hline 640 \end{array}$$

$$\begin{array}{r} ㊺ \quad 70 \\ \times 11 \\ \hline 770 \end{array}$$

$$\begin{array}{r} ㊻ \quad 30 \\ \times 42 \\ \hline 1260 \end{array}$$

$$\begin{array}{r} ㊼ \quad 40 \\ \times 24 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ㊽ \quad 64 \\ \times 11 \\ \hline 704 \end{array}$$

$$\begin{array}{r} ㊾ \quad 90 \\ \times 81 \\ \hline 7290 \end{array}$$

$$\begin{array}{r} ㊿ \quad 54 \\ \times 12 \\ \hline 648 \end{array}$$

① $\begin{array}{r} 14 \\ \times 13 \\ \hline 182 \end{array}$ ② $\begin{array}{r} 13 \\ \times 60 \\ \hline 780 \end{array}$ ③ $\begin{array}{r} 47 \\ \times 11 \\ \hline 517 \end{array}$ ④ $\begin{array}{r} 59 \\ \times 11 \\ \hline 649 \end{array}$ ⑤ $\begin{array}{r} 23 \\ \times 31 \\ \hline 713 \end{array}$ ⑥ $\begin{array}{r} 15 \\ \times 60 \\ \hline 900 \end{array}$ ⑦ $\begin{array}{r} 10 \\ \times 41 \\ \hline 410 \end{array}$ ⑧ $\begin{array}{r} 51 \\ \times 90 \\ \hline 4590 \end{array}$ ⑨ $\begin{array}{r} 52 \\ \times 10 \\ \hline 520 \end{array}$ ⑩ $\begin{array}{r} 11 \\ \times 84 \\ \hline 924 \end{array}$

⑪ $\begin{array}{r} 12 \\ \times 70 \\ \hline 840 \end{array}$ ⑫ $\begin{array}{r} 41 \\ \times 19 \\ \hline 779 \end{array}$ ⑬ $\begin{array}{r} 73 \\ \times 12 \\ \hline 876 \end{array}$ ⑭ $\begin{array}{r} 41 \\ \times 17 \\ \hline 697 \end{array}$ ⑮ $\begin{array}{r} 14 \\ \times 60 \\ \hline 840 \end{array}$ ⑯ $\begin{array}{r} 21 \\ \times 39 \\ \hline 819 \end{array}$ ⑰ $\begin{array}{r} 74 \\ \times 12 \\ \hline 888 \end{array}$ ⑱ $\begin{array}{r} 41 \\ \times 13 \\ \hline 533 \end{array}$ ⑲ $\begin{array}{r} 11 \\ \times 83 \\ \hline 913 \end{array}$ ⑳ $\begin{array}{r} 21 \\ \times 47 \\ \hline 987 \end{array}$

㉑ $\begin{array}{r} 20 \\ \times 43 \\ \hline 860 \end{array}$ ㉒ $\begin{array}{r} 90 \\ \times 61 \\ \hline 5490 \end{array}$ ㉓ $\begin{array}{r} 32 \\ \times 40 \\ \hline 1280 \end{array}$ ㉔ $\begin{array}{r} 30 \\ \times 80 \\ \hline 2400 \end{array}$ ㉕ $\begin{array}{r} 25 \\ \times 30 \\ \hline 750 \end{array}$ ㉖ $\begin{array}{r} 30 \\ \times 33 \\ \hline 990 \end{array}$ ㉗ $\begin{array}{r} 13 \\ \times 12 \\ \hline 156 \end{array}$ ㉘ $\begin{array}{r} 20 \\ \times 14 \\ \hline 280 \end{array}$ ㉙ $\begin{array}{r} 22 \\ \times 32 \\ \hline 704 \end{array}$ ㉚ $\begin{array}{r} 20 \\ \times 41 \\ \hline 820 \end{array}$

㉛ $\begin{array}{r} 32 \\ \times 40 \\ \hline 1280 \end{array}$ ㉜ $\begin{array}{r} 14 \\ \times 50 \\ \hline 700 \end{array}$ ㉝ $\begin{array}{r} 60 \\ \times 61 \\ \hline 3660 \end{array}$ ㉞ $\begin{array}{r} 57 \\ \times 11 \\ \hline 627 \end{array}$ ㉟ $\begin{array}{r} 21 \\ \times 15 \\ \hline 315 \end{array}$ ㊱ $\begin{array}{r} 11 \\ \times 12 \\ \hline 132 \end{array}$ ㊲ $\begin{array}{r} 28 \\ \times 21 \\ \hline 588 \end{array}$ ㊳ $\begin{array}{r} 41 \\ \times 22 \\ \hline 902 \end{array}$ ㊴ $\begin{array}{r} 32 \\ \times 22 \\ \hline 704 \end{array}$ ㊵ $\begin{array}{r} 16 \\ \times 30 \\ \hline 480 \end{array}$

㊶ $\begin{array}{r} 83 \\ \times 20 \\ \hline 1660 \end{array}$ ㊷ $\begin{array}{r} 51 \\ \times 20 \\ \hline 1020 \end{array}$ ㊸ $\begin{array}{r} 16 \\ \times 11 \\ \hline 176 \end{array}$ ㊹ $\begin{array}{r} 90 \\ \times 50 \\ \hline 4500 \end{array}$ ㊺ $\begin{array}{r} 49 \\ \times 11 \\ \hline 539 \end{array}$ ㊻ $\begin{array}{r} 15 \\ \times 13 \\ \hline 195 \end{array}$ ㊼ $\begin{array}{r} 34 \\ \times 10 \\ \hline 340 \end{array}$ ㊽ $\begin{array}{r} 14 \\ \times 70 \\ \hline 980 \end{array}$ ㊾ $\begin{array}{r} 19 \\ \times 40 \\ \hline 760 \end{array}$ ㊿ $\begin{array}{r} 40 \\ \times 82 \\ \hline 3280 \end{array}$

① $\begin{array}{r} 17 \\ \times 10 \\ \hline 170 \end{array}$ ② $\begin{array}{r} 15 \\ \times 11 \\ \hline 165 \end{array}$ ③ $\begin{array}{r} 44 \\ \times 10 \\ \hline 440 \end{array}$ ④ $\begin{array}{r} 10 \\ \times 67 \\ \hline 670 \end{array}$ ⑤ $\begin{array}{r} 32 \\ \times 22 \\ \hline 704 \end{array}$ ⑥ $\begin{array}{r} 20 \\ \times 70 \\ \hline 1400 \end{array}$ ⑦ $\begin{array}{r} 12 \\ \times 33 \\ \hline 396 \end{array}$ ⑧ $\begin{array}{r} 21 \\ \times 28 \\ \hline 588 \end{array}$ ⑨ $\begin{array}{r} 11 \\ \times 37 \\ \hline 407 \end{array}$ ⑩ $\begin{array}{r} 11 \\ \times 83 \\ \hline 913 \end{array}$

⑪ $\begin{array}{r} 21 \\ \times 20 \\ \hline 420 \end{array}$ ⑫ $\begin{array}{r} 60 \\ \times 16 \\ \hline 960 \end{array}$ ⑬ $\begin{array}{r} 13 \\ \times 15 \\ \hline 195 \end{array}$ ⑭ $\begin{array}{r} 80 \\ \times 30 \\ \hline 2400 \end{array}$ ⑮ $\begin{array}{r} 20 \\ \times 40 \\ \hline 800 \end{array}$ ⑯ $\begin{array}{r} 23 \\ \times 42 \\ \hline 966 \end{array}$ ⑰ $\begin{array}{r} 11 \\ \times 67 \\ \hline 737 \end{array}$ ⑱ $\begin{array}{r} 70 \\ \times 31 \\ \hline 2170 \end{array}$ ⑲ $\begin{array}{r} 10 \\ \times 34 \\ \hline 340 \end{array}$ ⑳ $\begin{array}{r} 20 \\ \times 25 \\ \hline 500 \end{array}$

㉑ $\begin{array}{r} 11 \\ \times 48 \\ \hline 528 \end{array}$ ㉒ $\begin{array}{r} 11 \\ \times 73 \\ \hline 803 \end{array}$ ㉓ $\begin{array}{r} 53 \\ \times 10 \\ \hline 530 \end{array}$ ㉔ $\begin{array}{r} 72 \\ \times 30 \\ \hline 2160 \end{array}$ ㉕ $\begin{array}{r} 11 \\ \times 62 \\ \hline 682 \end{array}$ ㉖ $\begin{array}{r} 84 \\ \times 20 \\ \hline 1680 \end{array}$ ㉗ $\begin{array}{r} 64 \\ \times 12 \\ \hline 768 \end{array}$ ㉘ $\begin{array}{r} 88 \\ \times 11 \\ \hline 968 \end{array}$ ㉙ $\begin{array}{r} 14 \\ \times 70 \\ \hline 980 \end{array}$ ㉚ $\begin{array}{r} 82 \\ \times 10 \\ \hline 820 \end{array}$

㉛ $\begin{array}{r} 30 \\ \times 92 \\ \hline 2760 \end{array}$ ㉜ $\begin{array}{r} 10 \\ \times 44 \\ \hline 440 \end{array}$ ㉝ $\begin{array}{r} 20 \\ \times 29 \\ \hline 580 \end{array}$ ㉞ $\begin{array}{r} 14 \\ \times 11 \\ \hline 154 \end{array}$ ㉟ $\begin{array}{r} 11 \\ \times 11 \\ \hline 121 \end{array}$ ㊱ $\begin{array}{r} 20 \\ \times 30 \\ \hline 600 \end{array}$ ㊲ $\begin{array}{r} 41 \\ \times 60 \\ \hline 2460 \end{array}$ ㊳ $\begin{array}{r} 12 \\ \times 20 \\ \hline 240 \end{array}$ ㊴ $\begin{array}{r} 14 \\ \times 30 \\ \hline 420 \end{array}$ ㊵ $\begin{array}{r} 11 \\ \times 86 \\ \hline 946 \end{array}$

㊶ $\begin{array}{r} 11 \\ \times 45 \\ \hline 495 \end{array}$ ㊷ $\begin{array}{r} 30 \\ \times 32 \\ \hline 960 \end{array}$ ㊸ $\begin{array}{r} 60 \\ \times 51 \\ \hline 3060 \end{array}$ ㊹ $\begin{array}{r} 33 \\ \times 11 \\ \hline 363 \end{array}$ ㊺ $\begin{array}{r} 40 \\ \times 24 \\ \hline 960 \end{array}$ ㊻ $\begin{array}{r} 14 \\ \times 60 \\ \hline 840 \end{array}$ ㊼ $\begin{array}{r} 13 \\ \times 62 \\ \hline 806 \end{array}$ ㊽ $\begin{array}{r} 11 \\ \times 35 \\ \hline 385 \end{array}$ ㊾ $\begin{array}{r} 12 \\ \times 62 \\ \hline 744 \end{array}$ ㊿ $\begin{array}{r} 81 \\ \times 10 \\ \hline 810 \end{array}$

$$\begin{array}{r} ① \quad 33 \\ \times 10 \\ \hline 330 \end{array}$$

$$\begin{array}{r} ② \quad 14 \\ \times 12 \\ \hline 168 \end{array}$$

$$\begin{array}{r} ③ \quad 51 \\ \times 19 \\ \hline 969 \end{array}$$

$$\begin{array}{r} ④ \quad 50 \\ \times 91 \\ \hline 4550 \end{array}$$

$$\begin{array}{r} ⑤ \quad 70 \\ \times 71 \\ \hline 4970 \end{array}$$

$$\begin{array}{r} ⑥ \quad 30 \\ \times 17 \\ \hline 510 \end{array}$$

$$\begin{array}{r} ⑦ \quad 91 \\ \times 10 \\ \hline 910 \end{array}$$

$$\begin{array}{r} ⑧ \quad 50 \\ \times 16 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ⑨ \quad 13 \\ \times 53 \\ \hline 689 \end{array}$$

$$\begin{array}{r} ⑩ \quad 80 \\ \times 90 \\ \hline 7200 \end{array}$$

$$\begin{array}{r} ⑪ \quad 29 \\ \times 20 \\ \hline 580 \end{array}$$

$$\begin{array}{r} ⑫ \quad 11 \\ \times 61 \\ \hline 671 \end{array}$$

$$\begin{array}{r} ⑬ \quad 70 \\ \times 80 \\ \hline 5600 \end{array}$$

$$\begin{array}{r} ⑭ \quad 12 \\ \times 83 \\ \hline 996 \end{array}$$

$$\begin{array}{r} ⑮ \quad 13 \\ \times 60 \\ \hline 780 \end{array}$$

$$\begin{array}{r} ⑯ \quad 10 \\ \times 20 \\ \hline 200 \end{array}$$

$$\begin{array}{r} ⑰ \quad 11 \\ \times 42 \\ \hline 462 \end{array}$$

$$\begin{array}{r} ⑱ \quad 15 \\ \times 31 \\ \hline 465 \end{array}$$

$$\begin{array}{r} ⑲ \quad 13 \\ \times 53 \\ \hline 689 \end{array}$$

$$\begin{array}{r} ⑳ \quad 50 \\ \times 51 \\ \hline 2550 \end{array}$$

$$\begin{array}{r} ㉑ \quad 42 \\ \times 11 \\ \hline 462 \end{array}$$

$$\begin{array}{r} ㉒ \quad 40 \\ \times 41 \\ \hline 1640 \end{array}$$

$$\begin{array}{r} ㉓ \quad 21 \\ \times 47 \\ \hline 987 \end{array}$$

$$\begin{array}{r} ㉔ \quad 90 \\ \times 40 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ㉕ \quad 10 \\ \times 52 \\ \hline 520 \end{array}$$

$$\begin{array}{r} ㉖ \quad 71 \\ \times 12 \\ \hline 852 \end{array}$$

$$\begin{array}{r} ㉗ \quad 19 \\ \times 41 \\ \hline 779 \end{array}$$

$$\begin{array}{r} ㉘ \quad 70 \\ \times 50 \\ \hline 3500 \end{array}$$

$$\begin{array}{r} ㉙ \quad 64 \\ \times 20 \\ \hline 1280 \end{array}$$

$$\begin{array}{r} ㉚ \quad 40 \\ \times 42 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ㉛ \quad 12 \\ \times 82 \\ \hline 984 \end{array}$$

$$\begin{array}{r} ㉜ \quad 41 \\ \times 60 \\ \hline 2460 \end{array}$$

$$\begin{array}{r} ㉝ \quad 35 \\ \times 21 \\ \hline 735 \end{array}$$

$$\begin{array}{r} ㉞ \quad 10 \\ \times 21 \\ \hline 210 \end{array}$$

$$\begin{array}{r} ㉟ \quad 13 \\ \times 73 \\ \hline 949 \end{array}$$

$$\begin{array}{r} ㊱ \quad 25 \\ \times 10 \\ \hline 250 \end{array}$$

$$\begin{array}{r} ㊲ \quad 22 \\ \times 21 \\ \hline 462 \end{array}$$

$$\begin{array}{r} ㊳ \quad 85 \\ \times 10 \\ \hline 850 \end{array}$$

$$\begin{array}{r} ㊴ \quad 42 \\ \times 10 \\ \hline 420 \end{array}$$

$$\begin{array}{r} ㊵ \quad 20 \\ \times 12 \\ \hline 240 \end{array}$$

$$\begin{array}{r} ㊶ \quad 54 \\ \times 10 \\ \hline 540 \end{array}$$

$$\begin{array}{r} ㊷ \quad 30 \\ \times 20 \\ \hline 600 \end{array}$$

$$\begin{array}{r} ㊸ \quad 10 \\ \times 68 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ㊹ \quad 30 \\ \times 83 \\ \hline 2490 \end{array}$$

$$\begin{array}{r} ㊺ \quad 37 \\ \times 10 \\ \hline 370 \end{array}$$

$$\begin{array}{r} ㊻ \quad 40 \\ \times 18 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㊼ \quad 11 \\ \times 47 \\ \hline 517 \end{array}$$

$$\begin{array}{r} ㊽ \quad 13 \\ \times 51 \\ \hline 663 \end{array}$$

$$\begin{array}{r} ㊾ \quad 11 \\ \times 33 \\ \hline 363 \end{array}$$

$$\begin{array}{r} ㊿ \quad 73 \\ \times 11 \\ \hline 803 \end{array}$$

$$\begin{array}{r} ① \quad 78 \\ \times 11 \\ \hline 858 \end{array}$$

$$\begin{array}{r} ② \quad 45 \\ \times 20 \\ \hline 900 \end{array}$$

$$\begin{array}{r} ③ \quad 10 \\ \times 29 \\ \hline 290 \end{array}$$

$$\begin{array}{r} ④ \quad 11 \\ \times 73 \\ \hline 803 \end{array}$$

$$\begin{array}{r} ⑤ \quad 52 \\ \times 14 \\ \hline 728 \end{array}$$

$$\begin{array}{r} ⑥ \quad 20 \\ \times 35 \\ \hline 700 \end{array}$$

$$\begin{array}{r} ⑦ \quad 81 \\ \times 11 \\ \hline 891 \end{array}$$

$$\begin{array}{r} ⑧ \quad 96 \\ \times 10 \\ \hline 960 \end{array}$$

$$\begin{array}{r} ⑨ \quad 31 \\ \times 24 \\ \hline 744 \end{array}$$

$$\begin{array}{r} ⑩ \quad 12 \\ \times 83 \\ \hline 996 \end{array}$$

$$\begin{array}{r} ⑪ \quad 50 \\ \times 13 \\ \hline 650 \end{array}$$

$$\begin{array}{r} ⑫ \quad 10 \\ \times 10 \\ \hline 100 \end{array}$$

$$\begin{array}{r} ⑬ \quad 13 \\ \times 40 \\ \hline 520 \end{array}$$

$$\begin{array}{r} ⑭ \quad 24 \\ \times 12 \\ \hline 288 \end{array}$$

$$\begin{array}{r} ⑮ \quad 11 \\ \times 74 \\ \hline 814 \end{array}$$

$$\begin{array}{r} ⑯ \quad 30 \\ \times 33 \\ \hline 990 \end{array}$$

$$\begin{array}{r} ⑰ \quad 30 \\ \times 33 \\ \hline 990 \end{array}$$

$$\begin{array}{r} ⑱ \quad 10 \\ \times 66 \\ \hline 660 \end{array}$$

$$\begin{array}{r} ⑲ \quad 10 \\ \times 27 \\ \hline 270 \end{array}$$

$$\begin{array}{r} ⑳ \quad 25 \\ \times 20 \\ \hline 500 \end{array}$$

$$\begin{array}{r} ㉑ \quad 10 \\ \times 56 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ㉒ \quad 43 \\ \times 11 \\ \hline 473 \end{array}$$

$$\begin{array}{r} ㉓ \quad 80 \\ \times 81 \\ \hline 6480 \end{array}$$

$$\begin{array}{r} ㉔ \quad 10 \\ \times 63 \\ \hline 630 \end{array}$$

$$\begin{array}{r} ㉕ \quad 62 \\ \times 14 \\ \hline 868 \end{array}$$

$$\begin{array}{r} ㉖ \quad 20 \\ \times 45 \\ \hline 900 \end{array}$$

$$\begin{array}{r} ㉗ \quad 26 \\ \times 30 \\ \hline 780 \end{array}$$

$$\begin{array}{r} ㉘ \quad 12 \\ \times 42 \\ \hline 504 \end{array}$$

$$\begin{array}{r} ㉙ \quad 10 \\ \times 40 \\ \hline 400 \end{array}$$

$$\begin{array}{r} ㉚ \quad 26 \\ \times 31 \\ \hline 806 \end{array}$$

$$\begin{array}{r} ㉛ \quad 52 \\ \times 13 \\ \hline 676 \end{array}$$

$$\begin{array}{r} ㉜ \quad 20 \\ \times 53 \\ \hline 1060 \end{array}$$

$$\begin{array}{r} ㉝ \quad 43 \\ \times 12 \\ \hline 516 \end{array}$$

$$\begin{array}{r} ㉞ \quad 12 \\ \times 72 \\ \hline 864 \end{array}$$

$$\begin{array}{r} ㉟ \quad 47 \\ \times 21 \\ \hline 987 \end{array}$$

$$\begin{array}{r} ㊱ \quad 42 \\ \times 13 \\ \hline 546 \end{array}$$

$$\begin{array}{r} ㊲ \quad 11 \\ \times 49 \\ \hline 539 \end{array}$$

$$\begin{array}{r} ㊳ \quad 17 \\ \times 10 \\ \hline 170 \end{array}$$

$$\begin{array}{r} ㊴ \quad 11 \\ \times 13 \\ \hline 143 \end{array}$$

$$\begin{array}{r} ㊵ \quad 41 \\ \times 31 \\ \hline 1271 \end{array}$$

$$\begin{array}{r} ㊶ \quad 11 \\ \times 51 \\ \hline 561 \end{array}$$

$$\begin{array}{r} ㊷ \quad 52 \\ \times 30 \\ \hline 1560 \end{array}$$

$$\begin{array}{r} ㊸ \quad 72 \\ \times 13 \\ \hline 936 \end{array}$$

$$\begin{array}{r} ㊹ \quad 31 \\ \times 51 \\ \hline 1581 \end{array}$$

$$\begin{array}{r} ㊺ \quad 16 \\ \times 50 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ㊻ \quad 33 \\ \times 13 \\ \hline 429 \end{array}$$

$$\begin{array}{r} ㊼ \quad 40 \\ \times 92 \\ \hline 3680 \end{array}$$

$$\begin{array}{r} ㊽ \quad 50 \\ \times 31 \\ \hline 1550 \end{array}$$

$$\begin{array}{r} ㊾ \quad 24 \\ \times 22 \\ \hline 528 \end{array}$$

$$\begin{array}{r} ㊿ \quad 10 \\ \times 92 \\ \hline 920 \end{array}$$

$$\begin{array}{r} ① \quad 31 \\ \times 16 \\ \hline 496 \end{array}$$

$$\begin{array}{r} ② \quad 32 \\ \times 22 \\ \hline 704 \end{array}$$

$$\begin{array}{r} ③ \quad 31 \\ \times 24 \\ \hline 744 \end{array}$$

$$\begin{array}{r} ④ \quad 19 \\ \times 31 \\ \hline 589 \end{array}$$

$$\begin{array}{r} ⑤ \quad 26 \\ \times 21 \\ \hline 546 \end{array}$$

$$\begin{array}{r} ⑥ \quad 40 \\ \times 52 \\ \hline 2080 \end{array}$$

$$\begin{array}{r} ⑦ \quad 11 \\ \times 45 \\ \hline 495 \end{array}$$

$$\begin{array}{r} ⑧ \quad 30 \\ \times 61 \\ \hline 1830 \end{array}$$

$$\begin{array}{r} ⑨ \quad 71 \\ \times 30 \\ \hline 2130 \end{array}$$

$$\begin{array}{r} ⑩ \quad 13 \\ \times 12 \\ \hline 156 \end{array}$$

$$\begin{array}{r} ⑪ \quad 10 \\ \times 68 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ⑫ \quad 13 \\ \times 13 \\ \hline 169 \end{array}$$

$$\begin{array}{r} ⑬ \quad 12 \\ \times 50 \\ \hline 600 \end{array}$$

$$\begin{array}{r} ⑭ \quad 12 \\ \times 74 \\ \hline 888 \end{array}$$

$$\begin{array}{r} ⑮ \quad 23 \\ \times 13 \\ \hline 299 \end{array}$$

$$\begin{array}{r} ⑯ \quad 50 \\ \times 70 \\ \hline 3500 \end{array}$$

$$\begin{array}{r} ⑰ \quad 72 \\ \times 12 \\ \hline 864 \end{array}$$

$$\begin{array}{r} ⑱ \quad 41 \\ \times 60 \\ \hline 2460 \end{array}$$

$$\begin{array}{r} ⑲ \quad 20 \\ \times 34 \\ \hline 680 \end{array}$$

$$\begin{array}{r} ⑳ \quad 47 \\ \times 10 \\ \hline 470 \end{array}$$

$$\begin{array}{r} ㉑ \quad 30 \\ \times 14 \\ \hline 420 \end{array}$$

$$\begin{array}{r} ㉒ \quad 20 \\ \times 47 \\ \hline 940 \end{array}$$

$$\begin{array}{r} ㉓ \quad 82 \\ \times 20 \\ \hline 1640 \end{array}$$

$$\begin{array}{r} ㉔ \quad 30 \\ \times 21 \\ \hline 630 \end{array}$$

$$\begin{array}{r} ㉕ \quad 20 \\ \times 74 \\ \hline 1480 \end{array}$$

$$\begin{array}{r} ㉖ \quad 63 \\ \times 13 \\ \hline 819 \end{array}$$

$$\begin{array}{r} ㉗ \quad 92 \\ \times 10 \\ \hline 920 \end{array}$$

$$\begin{array}{r} ㉘ \quad 30 \\ \times 53 \\ \hline 1590 \end{array}$$

$$\begin{array}{r} ㉙ \quad 28 \\ \times 20 \\ \hline 560 \end{array}$$

$$\begin{array}{r} ㉚ \quad 20 \\ \times 36 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㉛ \quad 70 \\ \times 51 \\ \hline 3570 \end{array}$$

$$\begin{array}{r} ㉜ \quad 20 \\ \times 54 \\ \hline 1080 \end{array}$$

$$\begin{array}{r} ㉝ \quad 10 \\ \times 49 \\ \hline 490 \end{array}$$

$$\begin{array}{r} ㉞ \quad 12 \\ \times 34 \\ \hline 408 \end{array}$$

$$\begin{array}{r} ㉟ \quad 51 \\ \times 60 \\ \hline 3060 \end{array}$$

$$\begin{array}{r} ㊱ \quad 80 \\ \times 11 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ㊲ \quad 60 \\ \times 70 \\ \hline 4200 \end{array}$$

$$\begin{array}{r} ㊳ \quad 70 \\ \times 70 \\ \hline 4900 \end{array}$$

$$\begin{array}{r} ㊴ \quad 15 \\ \times 21 \\ \hline 315 \end{array}$$

$$\begin{array}{r} ㊵ \quad 40 \\ \times 22 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ㊶ \quad 30 \\ \times 93 \\ \hline 2790 \end{array}$$

$$\begin{array}{r} ㊷ \quad 91 \\ \times 50 \\ \hline 4550 \end{array}$$

$$\begin{array}{r} ㊸ \quad 90 \\ \times 61 \\ \hline 5490 \end{array}$$

$$\begin{array}{r} ㊹ \quad 20 \\ \times 27 \\ \hline 540 \end{array}$$

$$\begin{array}{r} ㊺ \quad 10 \\ \times 30 \\ \hline 300 \end{array}$$

$$\begin{array}{r} ㊻ \quad 10 \\ \times 72 \\ \hline 720 \end{array}$$

$$\begin{array}{r} ㊼ \quad 50 \\ \times 41 \\ \hline 2050 \end{array}$$

$$\begin{array}{r} ㊽ \quad 72 \\ \times 12 \\ \hline 864 \end{array}$$

$$\begin{array}{r} ㊾ \quad 80 \\ \times 30 \\ \hline 2400 \end{array}$$

$$\begin{array}{r} ㊿ \quad 62 \\ \times 30 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ㊶ \quad 10 \\ \times 99 \\ \hline 990 \end{array}$$

$$\begin{array}{r} ㊷ \quad 91 \\ \times 60 \\ \hline 5460 \end{array}$$

$$\begin{array}{r} ㊸ \quad 27 \\ \times 20 \\ \hline 540 \end{array}$$

$$\begin{array}{r} ㊹ \quad 13 \\ \times 72 \\ \hline 936 \end{array}$$

$$\begin{array}{r} ㊺ \quad 70 \\ \times 91 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} ㊻ \quad 22 \\ \times 40 \\ \hline 880 \end{array}$$

$$\begin{array}{r} ㊼ \quad 23 \\ \times 13 \\ \hline 299 \end{array}$$

$$\begin{array}{r} ㊽ \quad 39 \\ \times 10 \\ \hline 390 \end{array}$$

$$\begin{array}{r} ㊾ \quad 31 \\ \times 70 \\ \hline 2170 \end{array}$$

$$\begin{array}{r} ㊿ \quad 84 \\ \times 20 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} ㊶ \quad 21 \\ \times 12 \\ \hline 252 \end{array}$$

$$\begin{array}{r} ㊷ \quad 21 \\ \times 44 \\ \hline 924 \end{array}$$

$$\begin{array}{r} ㊸ \quad 81 \\ \times 30 \\ \hline 2430 \end{array}$$

$$\begin{array}{r} ㊹ \quad 27 \\ \times 20 \\ \hline 540 \end{array}$$

$$\begin{array}{r} ㊺ \quad 10 \\ \times 95 \\ \hline 950 \end{array}$$

$$\begin{array}{r} ㊻ \quad 59 \\ \times 11 \\ \hline 649 \end{array}$$

$$\begin{array}{r} ㊼ \quad 15 \\ \times 61 \\ \hline 915 \end{array}$$

$$\begin{array}{r} ㊽ \quad 34 \\ \times 11 \\ \hline 374 \end{array}$$

$$\begin{array}{r} ㊾ \quad 20 \\ \times 81 \\ \hline 1620 \end{array}$$

$$\begin{array}{r} ㊿ \quad 73 \\ \times 10 \\ \hline 730 \end{array}$$

$$\begin{array}{r} ㊶ \quad 62 \\ \times 11 \\ \hline 682 \end{array}$$

$$\begin{array}{r} ㊷ \quad 60 \\ \times 60 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} ㊸ \quad 11 \\ \times 79 \\ \hline 869 \end{array}$$

$$\begin{array}{r} ㊹ \quad 12 \\ \times 52 \\ \hline 624 \end{array}$$

$$\begin{array}{r} ㊺ \quad 62 \\ \times 30 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ㊻ \quad 52 \\ \times 40 \\ \hline 2080 \end{array}$$

$$\begin{array}{r} ㊼ \quad 90 \\ \times 50 \\ \hline 4500 \end{array}$$

$$\begin{array}{r} ㊽ \quad 21 \\ \times 70 \\ \hline 1470 \end{array}$$

$$\begin{array}{r} ㊾ \quad 33 \\ \times 12 \\ \hline 396 \end{array}$$

$$\begin{array}{r} ㊿ \quad 51 \\ \times 13 \\ \hline 663 \end{array}$$

$$\begin{array}{r} ㊶ \quad 20 \\ \times 15 \\ \hline 300 \end{array}$$

$$\begin{array}{r} ㊷ \quad 23 \\ \times 12 \\ \hline 276 \end{array}$$

$$\begin{array}{r} ㊸ \quad 21 \\ \times 10 \\ \hline 210 \end{array}$$

$$\begin{array}{r} ㊹ \quad 51 \\ \times 50 \\ \hline 2550 \end{array}$$

$$\begin{array}{r} ㊺ \quad 52 \\ \times 30 \\ \hline 1560 \end{array}$$

$$\begin{array}{r} ㊻ \quad 14 \\ \times 31 \\ \hline 434 \end{array}$$

$$\begin{array}{r} ㊼ \quad 10 \\ \times 53 \\ \hline 530 \end{array}$$

$$\begin{array}{r} ㊽ \quad 33 \\ \times 20 \\ \hline 660 \end{array}$$

$$\begin{array}{r} ㊾ \quad 56 \\ \times 11 \\ \hline 616 \end{array}$$

$$\begin{array}{r} ㊿ \quad 80 \\ \times 90 \\ \hline 7200 \end{array}$$

$$\begin{array}{r} ㊶ \quad 86 \\ \times 10 \\ \hline 860 \end{array}$$

$$\begin{array}{r} ㊷ \quad 37 \\ \times 10 \\ \hline 370 \end{array}$$

$$\begin{array}{r} ㊸ \quad 30 \\ \times 62 \\ \hline 1860 \end{array}$$

$$\begin{array}{r} ㊹ \quad 19 \\ \times 40 \\ \hline 760 \end{array}$$

$$\begin{array}{r} ㊺ \quad 12 \\ \times 73 \\ \hline 876 \end{array}$$

$$\begin{array}{r} ㊻ \quad 19 \\ \times 10 \\ \hline 190 \end{array}$$

$$\begin{array}{r} ㊼ \quad 60 \\ \times 61 \\ \hline 3660 \end{array}$$

$$\begin{array}{r} ㊽ \quad 50 \\ \times 16 \\ \hline 800 \end{array}$$

$$\begin{array}{r} ㊾ \quad 14 \\ \times 71 \\ \hline 994 \end{array}$$

$$\begin{array}{r} ㊿ \quad 27 \\ \times 31 \\ \hline 837 \end{array}$$

$$\begin{array}{r} \textcircled{1} \quad 21 \\ \times 42 \\ \hline 882 \end{array}$$

$$\begin{array}{r} \textcircled{2} \quad 18 \\ \times 21 \\ \hline 378 \end{array}$$

$$\begin{array}{r} \textcircled{3} \quad 51 \\ \times 21 \\ \hline 1071 \end{array}$$

$$\begin{array}{r} \textcircled{4} \quad 21 \\ \times 35 \\ \hline 735 \end{array}$$

$$\begin{array}{r} \textcircled{5} \quad 82 \\ \times 12 \\ \hline 984 \end{array}$$

$$\begin{array}{r} \textcircled{6} \quad 17 \\ \times 50 \\ \hline 850 \end{array}$$

$$\begin{array}{r} \textcircled{7} \quad 33 \\ \times 21 \\ \hline 693 \end{array}$$

$$\begin{array}{r} \textcircled{8} \quad 16 \\ \times 20 \\ \hline 320 \end{array}$$

$$\begin{array}{r} \textcircled{9} \quad 11 \\ \times 64 \\ \hline 704 \end{array}$$

$$\begin{array}{r} \textcircled{10} \quad 18 \\ \times 10 \\ \hline 180 \end{array}$$

$$\begin{array}{r} \textcircled{11} \quad 10 \\ \times 66 \\ \hline 660 \end{array}$$

$$\begin{array}{r} \textcircled{12} \quad 64 \\ \times 20 \\ \hline 1280 \end{array}$$

$$\begin{array}{r} \textcircled{13} \quad 39 \\ \times 11 \\ \hline 429 \end{array}$$

$$\begin{array}{r} \textcircled{14} \quad 91 \\ \times 70 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} \textcircled{15} \quad 16 \\ \times 51 \\ \hline 816 \end{array}$$

$$\begin{array}{r} \textcircled{16} \quad 12 \\ \times 30 \\ \hline 360 \end{array}$$

$$\begin{array}{r} \textcircled{17} \quad 34 \\ \times 22 \\ \hline 748 \end{array}$$

$$\begin{array}{r} \textcircled{18} \quad 11 \\ \times 62 \\ \hline 682 \end{array}$$

$$\begin{array}{r} \textcircled{19} \quad 20 \\ \times 94 \\ \hline 1880 \end{array}$$

$$\begin{array}{r} \textcircled{20} \quad 51 \\ \times 70 \\ \hline 3570 \end{array}$$

$$\begin{array}{r} \textcircled{21} \quad 80 \\ \times 21 \\ \hline 1680 \end{array}$$

$$\begin{array}{r} \textcircled{22} \quad 82 \\ \times 40 \\ \hline 3280 \end{array}$$

$$\begin{array}{r} \textcircled{23} \quad 60 \\ \times 60 \\ \hline 3600 \end{array}$$

$$\begin{array}{r} \textcircled{24} \quad 11 \\ \times 33 \\ \hline 363 \end{array}$$

$$\begin{array}{r} \textcircled{25} \quad 43 \\ \times 23 \\ \hline 989 \end{array}$$

$$\begin{array}{r} \textcircled{26} \quad 80 \\ \times 91 \\ \hline 7280 \end{array}$$

$$\begin{array}{r} \textcircled{27} \quad 10 \\ \times 14 \\ \hline 140 \end{array}$$

$$\begin{array}{r} \textcircled{28} \quad 12 \\ \times 24 \\ \hline 288 \end{array}$$

$$\begin{array}{r} \textcircled{29} \quad 38 \\ \times 21 \\ \hline 798 \end{array}$$

$$\begin{array}{r} \textcircled{30} \quad 10 \\ \times 89 \\ \hline 890 \end{array}$$

$$\begin{array}{r} \textcircled{31} \quad 20 \\ \times 62 \\ \hline 1240 \end{array}$$

$$\begin{array}{r} \textcircled{32} \quad 91 \\ \times 70 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} \textcircled{33} \quad 42 \\ \times 30 \\ \hline 1260 \end{array}$$

$$\begin{array}{r} \textcircled{34} \quad 21 \\ \times 14 \\ \hline 294 \end{array}$$

$$\begin{array}{r} \textcircled{35} \quad 66 \\ \times 10 \\ \hline 660 \end{array}$$

$$\begin{array}{r} \textcircled{36} \quad 10 \\ \times 17 \\ \hline 170 \end{array}$$

$$\begin{array}{r} \textcircled{37} \quad 62 \\ \times 13 \\ \hline 806 \end{array}$$

$$\begin{array}{r} \textcircled{38} \quad 31 \\ \times 24 \\ \hline 744 \end{array}$$

$$\begin{array}{r} \textcircled{39} \quad 60 \\ \times 51 \\ \hline 3060 \end{array}$$

$$\begin{array}{r} \textcircled{40} \quad 22 \\ \times 20 \\ \hline 440 \end{array}$$

$$\begin{array}{r} \textcircled{41} \quad 40 \\ \times 10 \\ \hline 400 \end{array}$$

$$\begin{array}{r} \textcircled{42} \quad 90 \\ \times 31 \\ \hline 2790 \end{array}$$

$$\begin{array}{r} \textcircled{43} \quad 12 \\ \times 72 \\ \hline 864 \end{array}$$

$$\begin{array}{r} \textcircled{44} \quad 41 \\ \times 41 \\ \hline 1681 \end{array}$$

$$\begin{array}{r} \textcircled{45} \quad 51 \\ \times 16 \\ \hline 816 \end{array}$$

$$\begin{array}{r} \textcircled{46} \quad 11 \\ \times 17 \\ \hline 187 \end{array}$$

$$\begin{array}{r} \textcircled{47} \quad 62 \\ \times 10 \\ \hline 620 \end{array}$$

$$\begin{array}{r} \textcircled{48} \quad 14 \\ \times 61 \\ \hline 854 \end{array}$$

$$\begin{array}{r} \textcircled{49} \quad 30 \\ \times 92 \\ \hline 2760 \end{array}$$

$$\begin{array}{r} \textcircled{50} \quad 24 \\ \times 11 \\ \hline 264 \end{array}$$

$$\begin{array}{r} \textcircled{51} \quad 70 \\ \times 31 \\ \hline 2170 \end{array}$$

$$\begin{array}{r} \textcircled{52} \quad 12 \\ \times 20 \\ \hline 240 \end{array}$$

$$\begin{array}{r} \textcircled{53} \quad 33 \\ \times 12 \\ \hline 396 \end{array}$$

$$\begin{array}{r} \textcircled{54} \quad 10 \\ \times 54 \\ \hline 540 \end{array}$$

$$\begin{array}{r} \textcircled{55} \quad 19 \\ \times 21 \\ \hline 399 \end{array}$$

$$\begin{array}{r} \textcircled{56} \quad 21 \\ \times 34 \\ \hline 714 \end{array}$$

$$\begin{array}{r} \textcircled{57} \quad 20 \\ \times 73 \\ \hline 1460 \end{array}$$

$$\begin{array}{r} \textcircled{58} \quad 13 \\ \times 33 \\ \hline 429 \end{array}$$

$$\begin{array}{r} \textcircled{59} \quad 53 \\ \times 20 \\ \hline 1060 \end{array}$$

$$\begin{array}{r} \textcircled{60} \quad 24 \\ \times 12 \\ \hline 288 \end{array}$$

$$\begin{array}{r} \textcircled{61} \quad 62 \\ \times 12 \\ \hline 744 \end{array}$$

$$\begin{array}{r} \textcircled{62} \quad 30 \\ \times 71 \\ \hline 2130 \end{array}$$

$$\begin{array}{r} \textcircled{63} \quad 15 \\ \times 11 \\ \hline 165 \end{array}$$

$$\begin{array}{r} \textcircled{64} \quad 10 \\ \times 96 \\ \hline 960 \end{array}$$

$$\begin{array}{r} \textcircled{65} \quad 12 \\ \times 60 \\ \hline 720 \end{array}$$

$$\begin{array}{r} \textcircled{66} \quad 30 \\ \times 90 \\ \hline 2700 \end{array}$$

$$\begin{array}{r} \textcircled{67} \quad 20 \\ \times 32 \\ \hline 640 \end{array}$$

$$\begin{array}{r} \textcircled{68} \quad 20 \\ \times 92 \\ \hline 1840 \end{array}$$

$$\begin{array}{r} \textcircled{69} \quad 92 \\ \times 40 \\ \hline 3680 \end{array}$$

$$\begin{array}{r} \textcircled{70} \quad 20 \\ \times 91 \\ \hline 1820 \end{array}$$

$$\begin{array}{r} \textcircled{71} \quad 21 \\ \times 25 \\ \hline 525 \end{array}$$

$$\begin{array}{r} \textcircled{72} \quad 43 \\ \times 10 \\ \hline 430 \end{array}$$

$$\begin{array}{r} \textcircled{73} \quad 32 \\ \times 14 \\ \hline 448 \end{array}$$

$$\begin{array}{r} \textcircled{74} \quad 16 \\ \times 30 \\ \hline 480 \end{array}$$

$$\begin{array}{r} \textcircled{75} \quad 21 \\ \times 21 \\ \hline 441 \end{array}$$

$$\begin{array}{r} \textcircled{76} \quad 63 \\ \times 20 \\ \hline 1260 \end{array}$$

$$\begin{array}{r} \textcircled{77} \quad 10 \\ \times 51 \\ \hline 510 \end{array}$$

$$\begin{array}{r} \textcircled{78} \quad 26 \\ \times 11 \\ \hline 286 \end{array}$$

$$\begin{array}{r} \textcircled{79} \quad 18 \\ \times 11 \\ \hline 198 \end{array}$$

$$\begin{array}{r} \textcircled{80} \quad 70 \\ \times 91 \\ \hline 6370 \end{array}$$

$$\begin{array}{r} \textcircled{81} \quad 74 \\ \times 12 \\ \hline 888 \end{array}$$

$$\begin{array}{r} \textcircled{82} \quad 26 \\ \times 20 \\ \hline 520 \end{array}$$

$$\begin{array}{r} \textcircled{83} \quad 11 \\ \times 11 \\ \hline 121 \end{array}$$

$$\begin{array}{r} \textcircled{84} \quad 10 \\ \times 12 \\ \hline 120 \end{array}$$

$$\begin{array}{r} \textcircled{85} \quad 10 \\ \times 38 \\ \hline 380 \end{array}$$

$$\begin{array}{r} \textcircled{86} \quad 91 \\ \times 20 \\ \hline 1820 \end{array}$$

$$\begin{array}{r} \textcircled{87} \quad 92 \\ \times 10 \\ \hline 920 \end{array}$$

$$\begin{array}{r} \textcircled{88} \quad 30 \\ \times 10 \\ \hline 300 \end{array}$$

$$\begin{array}{r} \textcircled{89} \quad 60 \\ \times 61 \\ \hline 3660 \end{array}$$

$$\begin{array}{r} \textcircled{90} \quad 94 \\ \times 20 \\ \hline 1880 \end{array}$$

$$\begin{array}{r} \textcircled{91} \quad 10 \\ \times 60 \\ \hline 600 \end{array}$$

$$\begin{array}{r} \textcircled{92} \quad 24 \\ \times 21 \\ \hline 504 \end{array}$$

$$\begin{array}{r} \textcircled{93} \quad 40 \\ \times 13 \\ \hline 520 \end{array}$$

$$\begin{array}{r} \textcircled{94} \quad 88 \\ \times 11 \\ \hline 968 \end{array}$$

$$\begin{array}{r} \textcircled{95} \quad 90 \\ \times 41 \\ \hline 3690 \end{array}$$

$$\begin{array}{r} \textcircled{96} \quad 10 \\ \times 46 \\ \hline 460 \end{array}$$

$$\begin{array}{r} \textcircled{97} \quad 30 \\ \times 28 \\ \hline 840 \end{array}$$

$$\begin{array}{r} \textcircled{98} \quad 14 \\ \times 60 \\ \hline 840 \end{array}$$

$$\begin{array}{r} \textcircled{99} \quad 60 \\ \times 15 \\ \hline 900 \end{array}$$

$$\begin{array}{r} \textcircled{100} \quad 10 \\ \times 65 \\ \hline 650 \end{array}$$

$$\begin{array}{r} \textcircled{1} \quad 28 \\ \times 20 \\ \hline 560 \end{array} \quad \begin{array}{r} \textcircled{2} \quad 62 \\ \times 12 \\ \hline 744 \end{array} \quad \begin{array}{r} \textcircled{3} \quad 20 \\ \times 32 \\ \hline 640 \end{array} \quad \begin{array}{r} \textcircled{4} \quad 21 \\ \times 39 \\ \hline 819 \end{array} \quad \begin{array}{r} \textcircled{5} \quad 10 \\ \times 73 \\ \hline 730 \end{array} \quad \begin{array}{r} \textcircled{6} \quad 11 \\ \times 35 \\ \hline 385 \end{array} \quad \begin{array}{r} \textcircled{7} \quad 13 \\ \times 61 \\ \hline 793 \end{array} \quad \begin{array}{r} \textcircled{8} \quad 20 \\ \times 48 \\ \hline 960 \end{array} \quad \begin{array}{r} \textcircled{9} \quad 80 \\ \times 90 \\ \hline 7200 \end{array} \quad \begin{array}{r} \textcircled{10} \quad 67 \\ \times 11 \\ \hline 737 \end{array}$$

$$\begin{array}{r} \textcircled{11} \quad 15 \\ \times 61 \\ \hline 915 \end{array} \quad \begin{array}{r} \textcircled{12} \quad 20 \\ \times 40 \\ \hline 800 \end{array} \quad \begin{array}{r} \textcircled{13} \quad 40 \\ \times 21 \\ \hline 840 \end{array} \quad \begin{array}{r} \textcircled{14} \quad 31 \\ \times 41 \\ \hline 1271 \end{array} \quad \begin{array}{r} \textcircled{15} \quad 13 \\ \times 71 \\ \hline 923 \end{array} \quad \begin{array}{r} \textcircled{16} \quad 20 \\ \times 54 \\ \hline 1080 \end{array} \quad \begin{array}{r} \textcircled{17} \quad 10 \\ \times 35 \\ \hline 350 \end{array} \quad \begin{array}{r} \textcircled{18} \quad 15 \\ \times 40 \\ \hline 600 \end{array} \quad \begin{array}{r} \textcircled{19} \quad 32 \\ \times 20 \\ \hline 640 \end{array} \quad \begin{array}{r} \textcircled{20} \quad 31 \\ \times 18 \\ \hline 558 \end{array}$$

$$\begin{array}{r} \textcircled{21} \quad 10 \\ \times 82 \\ \hline 820 \end{array} \quad \begin{array}{r} \textcircled{22} \quad 50 \\ \times 15 \\ \hline 750 \end{array} \quad \begin{array}{r} \textcircled{23} \quad 25 \\ \times 11 \\ \hline 275 \end{array} \quad \begin{array}{r} \textcircled{24} \quad 11 \\ \times 24 \\ \hline 264 \end{array} \quad \begin{array}{r} \textcircled{25} \quad 17 \\ \times 31 \\ \hline 527 \end{array} \quad \begin{array}{r} \textcircled{26} \quad 25 \\ \times 11 \\ \hline 275 \end{array} \quad \begin{array}{r} \textcircled{27} \quad 31 \\ \times 51 \\ \hline 1581 \end{array} \quad \begin{array}{r} \textcircled{28} \quad 16 \\ \times 11 \\ \hline 176 \end{array} \quad \begin{array}{r} \textcircled{29} \quad 31 \\ \times 51 \\ \hline 1581 \end{array} \quad \begin{array}{r} \textcircled{30} \quad 10 \\ \times 20 \\ \hline 200 \end{array}$$

$$\begin{array}{r} \textcircled{31} \quad 20 \\ \times 32 \\ \hline 640 \end{array} \quad \begin{array}{r} \textcircled{32} \quad 23 \\ \times 31 \\ \hline 713 \end{array} \quad \begin{array}{r} \textcircled{33} \quad 40 \\ \times 50 \\ \hline 2000 \end{array} \quad \begin{array}{r} \textcircled{34} \quad 10 \\ \times 71 \\ \hline 710 \end{array} \quad \begin{array}{r} \textcircled{35} \quad 32 \\ \times 30 \\ \hline 960 \end{array} \quad \begin{array}{r} \textcircled{36} \quad 26 \\ \times 11 \\ \hline 286 \end{array} \quad \begin{array}{r} \textcircled{37} \quad 31 \\ \times 25 \\ \hline 775 \end{array} \quad \begin{array}{r} \textcircled{38} \quad 14 \\ \times 40 \\ \hline 560 \end{array} \quad \begin{array}{r} \textcircled{39} \quad 10 \\ \times 65 \\ \hline 650 \end{array} \quad \begin{array}{r} \textcircled{40} \quad 21 \\ \times 44 \\ \hline 924 \end{array}$$

$$\begin{array}{r} \textcircled{41} \quad 50 \\ \times 13 \\ \hline 650 \end{array} \quad \begin{array}{r} \textcircled{42} \quad 31 \\ \times 70 \\ \hline 2170 \end{array} \quad \begin{array}{r} \textcircled{43} \quad 51 \\ \times 31 \\ \hline 1581 \end{array} \quad \begin{array}{r} \textcircled{44} \quad 60 \\ \times 71 \\ \hline 4260 \end{array} \quad \begin{array}{r} \textcircled{45} \quad 62 \\ \times 12 \\ \hline 744 \end{array} \quad \begin{array}{r} \textcircled{46} \quad 40 \\ \times 10 \\ \hline 400 \end{array} \quad \begin{array}{r} \textcircled{47} \quad 41 \\ \times 12 \\ \hline 492 \end{array} \quad \begin{array}{r} \textcircled{48} \quad 37 \\ \times 10 \\ \hline 370 \end{array} \quad \begin{array}{r} \textcircled{49} \quad 40 \\ \times 17 \\ \hline 680 \end{array} \quad \begin{array}{r} \textcircled{50} \quad 64 \\ \times 12 \\ \hline 768 \end{array}$$

$$\begin{array}{r} \textcircled{51} \quad 11 \\ \times 17 \\ \hline 187 \end{array} \quad \begin{array}{r} \textcircled{52} \quad 27 \\ \times 30 \\ \hline 810 \end{array} \quad \begin{array}{r} \textcircled{53} \quad 15 \\ \times 51 \\ \hline 765 \end{array} \quad \begin{array}{r} \textcircled{54} \quad 11 \\ \times 36 \\ \hline 396 \end{array} \quad \begin{array}{r} \textcircled{55} \quad 10 \\ \times 34 \\ \hline 340 \end{array} \quad \begin{array}{r} \textcircled{56} \quad 15 \\ \times 60 \\ \hline 900 \end{array} \quad \begin{array}{r} \textcircled{57} \quad 80 \\ \times 91 \\ \hline 7280 \end{array} \quad \begin{array}{r} \textcircled{58} \quad 20 \\ \times 35 \\ \hline 700 \end{array} \quad \begin{array}{r} \textcircled{59} \quad 78 \\ \times 11 \\ \hline 858 \end{array} \quad \begin{array}{r} \textcircled{60} \quad 21 \\ \times 15 \\ \hline 315 \end{array}$$

$$\begin{array}{r} \textcircled{61} \quad 60 \\ \times 50 \\ \hline 3000 \end{array} \quad \begin{array}{r} \textcircled{62} \quad 82 \\ \times 30 \\ \hline 2460 \end{array} \quad \begin{array}{r} \textcircled{63} \quad 75 \\ \times 11 \\ \hline 825 \end{array} \quad \begin{array}{r} \textcircled{64} \quad 24 \\ \times 11 \\ \hline 264 \end{array} \quad \begin{array}{r} \textcircled{65} \quad 50 \\ \times 60 \\ \hline 3000 \end{array} \quad \begin{array}{r} \textcircled{66} \quad 73 \\ \times 30 \\ \hline 2190 \end{array} \quad \begin{array}{r} \textcircled{67} \quad 13 \\ \times 53 \\ \hline 689 \end{array} \quad \begin{array}{r} \textcircled{68} \quad 35 \\ \times 11 \\ \hline 385 \end{array} \quad \begin{array}{r} \textcircled{69} \quad 50 \\ \times 41 \\ \hline 2050 \end{array} \quad \begin{array}{r} \textcircled{70} \quad 46 \\ \times 21 \\ \hline 966 \end{array}$$

$$\begin{array}{r} \textcircled{71} \quad 29 \\ \times 20 \\ \hline 580 \end{array} \quad \begin{array}{r} \textcircled{72} \quad 90 \\ \times 11 \\ \hline 990 \end{array} \quad \begin{array}{r} \textcircled{73} \quad 42 \\ \times 21 \\ \hline 882 \end{array} \quad \begin{array}{r} \textcircled{74} \quad 29 \\ \times 20 \\ \hline 580 \end{array} \quad \begin{array}{r} \textcircled{75} \quad 20 \\ \times 63 \\ \hline 1260 \end{array} \quad \begin{array}{r} \textcircled{76} \quad 22 \\ \times 23 \\ \hline 506 \end{array} \quad \begin{array}{r} \textcircled{77} \quad 14 \\ \times 71 \\ \hline 994 \end{array} \quad \begin{array}{r} \textcircled{78} \quad 31 \\ \times 50 \\ \hline 1550 \end{array} \quad \begin{array}{r} \textcircled{79} \quad 11 \\ \times 41 \\ \hline 451 \end{array} \quad \begin{array}{r} \textcircled{80} \quad 12 \\ \times 73 \\ \hline 876 \end{array}$$

$$\begin{array}{r} \textcircled{81} \quad 23 \\ \times 13 \\ \hline 299 \end{array} \quad \begin{array}{r} \textcircled{82} \quad 13 \\ \times 60 \\ \hline 780 \end{array} \quad \begin{array}{r} \textcircled{83} \quad 11 \\ \times 55 \\ \hline 605 \end{array} \quad \begin{array}{r} \textcircled{84} \quad 21 \\ \times 12 \\ \hline 252 \end{array} \quad \begin{array}{r} \textcircled{85} \quad 31 \\ \times 61 \\ \hline 1891 \end{array} \quad \begin{array}{r} \textcircled{86} \quad 93 \\ \times 30 \\ \hline 2790 \end{array} \quad \begin{array}{r} \textcircled{87} \quad 31 \\ \times 25 \\ \hline 775 \end{array} \quad \begin{array}{r} \textcircled{88} \quad 90 \\ \times 80 \\ \hline 7200 \end{array} \quad \begin{array}{r} \textcircled{89} \quad 30 \\ \times 28 \\ \hline 840 \end{array} \quad \begin{array}{r} \textcircled{90} \quad 30 \\ \times 21 \\ \hline 630 \end{array}$$

$$\begin{array}{r} \textcircled{91} \quad 21 \\ \times 50 \\ \hline 1050 \end{array} \quad \begin{array}{r} \textcircled{92} \quad 87 \\ \times 10 \\ \hline 870 \end{array} \quad \begin{array}{r} \textcircled{93} \quad 12 \\ \times 40 \\ \hline 480 \end{array} \quad \begin{array}{r} \textcircled{94} \quad 72 \\ \times 10 \\ \hline 720 \end{array} \quad \begin{array}{r} \textcircled{95} \quad 11 \\ \times 75 \\ \hline 825 \end{array} \quad \begin{array}{r} \textcircled{96} \quad 30 \\ \times 60 \\ \hline 1800 \end{array} \quad \begin{array}{r} \textcircled{97} \quad 31 \\ \times 41 \\ \hline 1271 \end{array} \quad \begin{array}{r} \textcircled{98} \quad 20 \\ \times 94 \\ \hline 1880 \end{array} \quad \begin{array}{r} \textcircled{99} \quad 90 \\ \times 71 \\ \hline 6390 \end{array} \quad \begin{array}{r} \textcircled{100} \quad 53 \\ \times 10 \\ \hline 530 \end{array}$$